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Pattern (1) Intersection — non-signaled

Road environments that cause accidents
Accident process _ Road factors Traffic environment factors
Road alignment Intersection shape Lanes/width Accessories/structures
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Did the intersection collision occur because a driver entered Are there elements that prevent awareness
the intersection without confirming safety because the driver § _.{"v:k of the need to try to confirm safety, stop,
1 was unaware of the need to confirm safety? C R 5 | then advance slowly? i 4-5 13-5 19-5
Failure to confirm safety é -
_5 Did the intersection collision occur because a driver Are there elements that block the view of
2 attempted to confirm safety, but entered the intersection drivers?
E] without being able to do so? 1 R 31 71 17-1 | 181 20-1
c
2
% Cannot Are there elements th"at distract drivers so
@ annot see they are not attentive?
g the vehicle 2 - 9-2 19-2
=
Did the intersection collision occur because a driver tried Are there elements that encourage drivers
to confirm safety and decided it was safe to proceed? —&::} to move forward, start to move, or to cutin
3 4 | dangerously? : i
Cannot stop
Did the rear-end collision occur because a driver did not check the car ahead on time? Are there elements tha}) obscure a driver’s
4 | view of vehicles ahead? O 34 1741 | 181
2 - -
Are there elements that distract a driver so
Noticed too late 2 | heis not attentive? - 92 15-2 19-2
15
K Did the rear-end collision occur because a driver Are there elements that encourage drivers
(_o_, checked for safety, made a judgment and took action, to make frequent emergency stops, to
: » .
| 4 but avoided the other car too late? 14 ?::g%erate, orto change lanes onthe main | _, 614 | 7-14 9-14 14-14 19-14 21-14 | 22-14
?'_’ Cannot stop D
3 .
o Did the rear-end collision occur because a driver abruptly stopped or changed lanes in order to avoid Check for elements that cause accidents by
danger? drivers avoiding other danger.
Dangerous ¥ % 3
5 ?Ve“"’e ts * Pedestran etc. 15 — | 115 | 215 | 315 | 415 | 5-15 | 6-15 [ 7-15 | 8-15 | 9-15 | 10-15 | 11-15 13-15 [ 14-15 | 15-15 | 16-15 | 17-15 [ 18-15 | 19-15 | 20-15 | 21-15 | 22-15
Avoiding danger D Avoiding danger 3 3 D
Did the right turn collision occur because a driver Are there elements that obscure the view of
attempted to confirm safety, but turned right 1 | the road ahead of drivers turning right? R 3-1 17-1 20-1
without succeeding in confirming safety?
2
Are there elements that distract drivers
€ 2 turning right so they are not attentive? - 9.2 19-2
3
E Cannot see the vehicle
g Did the right turn collision occur because a driver tried to confirm safety, decided that it was possible Are there elements that encourage
2 to turn right, and tried to turn right? dangerous right turns?
= b d . -
8 Dangerous through travel 4 10-4 21-4
3 Dangerous "
right tum Are there elements thdat cause drivers
turning right to misunderstand the behavior x R
7| of oncoming traffic? - 27 47
Did the vehicle hit the pedestrian crossing the road Are there elements that encourage
at a place where the driver did not know that pedestrians to cross roads dangerously.
pedestrians cross the road?
1 13 nd 11-13
g’ Dangerous crossing
g
ot Did the vehicle hit the pedestrian because the driver ﬁ(e theqre elements that block the view of
I tried to confirm safety, but proceeded without being rivers? - R R . 16-1 | 17-1 20-1
g able to see the pedestrian'.? 1 b 31 & 0
2 Can neither see
nor be seen Are there elements that distract a driver so
2 | heis not attentive? - 5-2 8-2 19-2

* Accident process pattern No. 5 is an accident that occurs when a driver has made an emergency stop or lane change to avoid danger, and
it is difficult to hypothesize causes of this type of accident. So for this countermeasure (Cause code O-15), refer to other types of

accidents.

N

* Although causes of accidents are recorded for road environments that cause accidents, there are cases
where the columns below them are all empty columns. This has been done so that the contents can be
expanded by accumulating future data and obtaining the views of users of this manual.
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Pattern (1) Intersection — non-signaled ' (2/2)

Road environments that cause accidents

Traffic environment factors

Accident process ACC jes/ : . Road surface . Cc i
structure Roadside environment conditions Signals st;pping Others
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Did the intersection collision occur because a driver entered Are there elements that prevent awareness
the intersection without confirming safety because the driver of the need to try to confirm safety, stop,
1 was unaware of the need to confirm safety? — | 5 | then advance slowly? i 29-5 | 30-5 40-5 | 41-5
§ Did the intersection collision occur because a driver Are there elements that block the view of
@ attempted to confirm safety, but entered the intersection drivers?
8 without being able to do s0? - - 241 ‘ 38-1 44-1
5| 2 Cannot see the vehicle i
b % c \ Are there elements that distract drivers so
o annot see they are not attentive?
5 the vehicle —|2 : - 26-2 30-2 40-2 | 412 432
3
Did the intersection collision occur because a driver tried _Are there elements that encourage drivers
to confirm safety and decided it was safe to proceed? “to move forward, start to move, or to cut in
3 - — | 4 | dangerously? i
Cannot stop
Did the rear-end collision occur because a driver did not check the car ahead on time? Are there elements that obscure a driver's
view of vehicles ahead?
= |1 d 24-1
2 " -
. Are there elements that distract a driver so
Noticed too late -2 he is not attentive? - 30-2 40-2 | 41-2
]
@ Did the rear-end collision occur because a driver Are there elements that encourage drivers
K] checked for safety, made a judgn!’ent and took action, to make frequent emergency stops, to ) :
o 4 | butavoided the other car too late? - | 14 :!::gl)erate, or to change lanes on the main N 26-14 29.14 31-14 | 32-14 40-14 | 41-14 44-14
?'.’ Cannot stop
g
T Did the rear-end collision occur because a driver abruptly stopped or changed lanes in order to avoid Check for elements that cause accidents by
danger? drivers avoiding other danger.
Dangerous i .
5 vehicle Pedestrian efc. - |15 - | 2315 |24-15|25-15[26-15 29-15 | 30-15 | 31-15 | 32-15 38-15 | 40-15 | 41-15 | 42-15 | 43-15 | 44-15
Avoiding danger \C)D Avoiding danger D ’
Did the right turn collision occur because a driver Are there elements that obscure the view of
attempted to confirm safety, but turned right * — | ¢ | theroad ahead of drivers turning right? - | o231 38-1
without succeeding in confirming safety?
2 . : .
Are there elements that distract drivers
£ turning right so they are not attentive? N g y !
2 Cannot ses the vehicle -2 26-2 v 422 | 432
L
g Did the right turn collision occur because a driver tried to confirm safety, decided that it was possible Are there elements that encourage
2 to turn right, and tried to turn right? dangerous right turns?
= - 4 —
8 Dangerous through travel
3 Dangerous
right tumn Are there elements that cause drivers
ey > 7 turning right to misunderstand the behavior .
of oncoming traffic?
Did the vehicle hit the pedestrian crossing the road Are there elements that encourage
at a place where the driver did not know that pedestrians to cross roads dangerously.
pedestrians cross the road?
o | 1 - |13 nd 38-13 42-13
5 Dangerous crossing
g
(]
] Did the vehicle hit the pedestrian because the driver z ™ * Are there elements that block the view of
g tried to confirm safety, but proceeded without being r % = | 1 | drivers? i 24-1 | 25-1 38-1 . 44-1
2 able to see the pedestrian? S
Can neither see n r
nor be seen Are there elements that distract a driver so
— | 2 | heis not attentive? i i 26-2

* Accident process pattern No. 5 is an accident that occurs when a driver has made an emergency stop or lane change to avoid danger, and
it ls.gifficult to hypothesize causes of this type of accident. So for this countermeasure (Cause code O—15), refer to other types of
accidents. '
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Pattern (2) Intersection — signaled — 3 roads

(1/2)

Road environments that cause accidents
Accident process Road factors Traffic environment factors
Road alignment Intersection shape Lanes/width Accessories/structures
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Did the rear-end collision occur because a driver Are there elements that obscure a driver's
did not check the car ahead on time? 1 view of vehicles ahead? " - | 11 3-1 17-1 | 18-1
2
. Are there elements that distract a driver so
Noticed too late 2 | heis not attentive? - 15-2 19-2
[ =
2 Did the rear-end collision occur because a driver checked E - Are there elements that encourage drivers
S for safety, made a juq’gment and took action, but avoided P ; to make frequent emergency stops, to
3 4 the other car too late? 14 g::g,!,erate, or to change lanes on the main = 614 | 7-14 914 14-14 19-14 21-14| 22-14
[=
3
& Did the rear-end collision occur because a driver abruptly Check for elements that cause accidents by
stopped or changed lanes in order to avoid danger? Dangerous drivers avoiding other danger.
vehicle
5 15 — [ 1145 ]| 215 | 3-15 | 415 | 5-15 | 615 | 7-15 | 8-15 | 9-15 | 10-15] 11-15 14-15{15-15|16-15| 17-15| 18-15{ 19-15 | 20-15 | 21-15| 22-15 | 23-15
Avoiding danger D
Did the intersection collision occur because a driver entered X m Are there elements that prevent awareness
the intersection without confirming safety because the driver of the need to try to confirm safety, stop,
1 was unaware of the need to confirm safety? Failure to confirm safety é 5 | then advance slowly? s 4-5 19-5
'_5 Did the intersection collision occur because a driver Are theore elements that block the view of
2 attempted to confirm safety, but entered the intersection drivers?
3 without being able to do so? * 1 = | 31 71 17-1 | 181 201
5 2 Cannot see the vehicle . -
s Are there elements that distract drivers so
8 % Cannothsee 2 | theyarenot attentive? N 19-2
@ the vehicle
E
Did the intersection collision occur because a driver tried - v Are there elements that encourage drivers
to confirm safety and decided it was safe to proceed? i to move forward, start tomove, or to cutin
3 4 | dangerously? nd
Cannot stop
Did the right turn collision occur because a driver Are there elements that obscure the view of
attempted to confirm safety, but turned right D the road ahead of drivers turning right? R . . .
. without succeeding in confirming safety? * 1 = 31 17-1 201 234
2
c Are there elements that distract drivers
] turning right so they are not attentive?
:'-':’ Cannot see the vehicle 2 9ng y - 9-2 19-2
®
o Did the right turn collision occur because a driver tried to confirm safety, decided that it was possible Are there elements that encourage
£ to turn right, and tried to turn right? 4 dangerous right turns? N 21-4
8 Dangerous through travel -
3
23&%3';“5 Are there elements that cause drivers
9 7 | turning right to misunderstand the behavior | _, o7 47
of oncoming traffic?
Was the pedestrian hit by the vehicle when crossing the road while ignoring the signal? Are there elements that encourage
pedestrians to cross roads dangerously.
Dangerous
f_u 1 k ’ crossing 13 - 113
§ Dangerous DanQ?fOUS k —
o crossing crossing
(3]
2 Did the vehicle hit the pedestrian because the driver tried to confirm safety, but proceeded without Are there elements that block the view of
o being able to see the pedestrian? 1 | drivers? - 31 16-1 | 171 | 181 20-1
c
@ Are there elements that distract a driver so
8 k >y 2 | he s ot attentive? - 52 82 | 92 | 102 192
Q
2 2 Pedestrian not visible 5 Are there elements that obscure the N
£ intersection?
Are there elements that encourage drivers
4 | to move forward, start to move, or to cutin i
dangerously?

* Accident process pattern No. 5 is an accident that occurs when a driver has made an emergency stop or lane change to avoid danger, and
itis difficult to hypothesize causes of this type of accident. So for this countermeasure {Cause code ©O-15), refer to other types of

accidents.

* Although causes of accidents are recorded for road environments that cause accidents, there are cases
where the columns below them are all empty columns. This has been done so that the contents can be
expanded by accumulating future data and obtaining the views of users of this manual.

Pattern (2) Intersection — signaled — 3 roads
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Pattern (2) Intersection - signaled — 3 roads (2/2)

Road environments that cause accidents
Traffic environment factors
Accident process ! Road surface Congesti
. . . . gestion/
Accessories/structure Roadside environment conditions Signals stopping Others
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Did the rear-end collision occur because a driver - Are there elements that obscure a driver’s
did not check the car ahead on time? _.{:},—> — | 1 | view of vehicles ahead? , - 241
2
| Are there elements that distract a driver so
Noticed too late — | 2 | heis not attentive? - 30-2 33-2 40-2 | 41-2
c
2 Did the rear-end collision occur because a driver checked Are there elements that encourage drivers
= for safety, made a jug)gment and took action, but avoided to make frequent emergency stops,to .
S| 4 | theothercartoolate? - | 14 | decelerate, orto change lanes on the main | 26-14 29-14 31114 | 32-14 40-14 | 41-14 44-14
c
]
&£ Did the rear-end collision occur because a driver abruptly Check for elements that cause accidents by
stopped or changed lanes in order to avoid danger? Dangerous drivers avoiding other danger.
vehicle
5 = |15 - | 24-15 25-15 | 26-15 29-15 | 30-15| 31-15 32-15 |33-15|34-15]35-15|36-15|37-15 38-15 40-15 | 41-15 | 42-15 | 43-15 | 44-15
Avoiding danger D
Did the intersection collision occur because a driver entered m Are there elements that prevent awareness
the intersection without confirming safety because the driver of the need to try to confirm safety, stop,
1. | was unaware of the need to confirm safety? Failute to confirm safety 6 — | 5 | then advance slowly? i 29-5 | 30-5 33-5 40-5 | 415
_§ Did the intersection collision occur because a driver Are there elements that block the view of
2 attempted to confirm safety, but entered the intersection drivers? N
E] without being able to do so? - = 241 38-1 44-1
5 2 Cannot see the vehicle - -
b5 c . Are there elements th?at distract drivers so
g annot see — | o | theyare not attentive? - 26-2 30-2 33-2 40-2 | 41-2 43-2
[ the vehicle _ B
<
Did the intersection collision occur because a driver tried Are there elements that encourage drivers
to confirm safety and decided it was safe to proceed? to move forward, start to move, or to cutin
3 — | 4 | dangerously? s 34-4 | 35-4
Cannot stop
Did the right turn collision occur because a driver Are there elements that obscure the view of
attempted to confirm safety, but turned right D * — | ¢ | the road ahead of drivers turning right? - 331 38-1
without succeeding in confirming safety?
2 -
c m Are there elements that distract drlve’r)s
3 turning right so they are not attentive? .
2 Cannot see the vehicle -2 ara Y - 26-2 422 | 432
)
o Did the right turn collision occur because a driver tried to confirm safety, decided that it was possible Are there elements that encourage
£ to turn right, and tried to turn right? - | a dangerous right turns? N 34-4
8 Dangerous through trave!
3 -
Sa:'gtzrr‘:‘"s Are there elements that cause drivers
9 -1 7 turning right to misunderstand the behavior - 36.7
of oncoming traffic?
Was the pedestrian hit by the vehicle when crossing the road while ignoring the signal? Are there elements that encourage
pedestrians to cross roads dangerously.
Dangerous
3|1 k crossing - |13 - 3413 38-13
Z Dangerous Dangerous JA° wmmp
§ crossing crossing
o
2 Did the vehicle hit the pedestrian because the driver tried to confirm safety, but proceeded without Are there elements that block the view of -
= being able to see the pedestrian? = | 1 | drivers? 24-1 25-1 38-1
| =
> Are there elements that distract a driver so
8 *—»{;‘3} ~ | 2 | heis not attentive? - 26-2 33-2 41-2
Q .
o 2 . i Are there elements that obscure the
§ \ Pedestrian not visible - 5 intersection? — v . 40-5
m Are there elements that encourage drivers
— | 4 | to move forward, start to move, or to cut in — 34-4 37-4
dangerously?

* Accident process pattern No. 5 is an accident that occurs when a driver has made an emergency stop or lane change to avoid danger, and
itis difficult to hypothesize causes of this type of accident. So for this countermeasure (Cause code O—15), refer to other types of

accidents. ' Pattern (2) Intersection — signaled — 3 roads  Document 1-4




Pattern (3) Intersection — signaled - 4 roads - 2-lanes or less x 2-lanes or less

Road environments that cause accidents
Accident process i Road factt'ars : Traffic environment factors
Road alignment Intersection shape Lanes/width Accessories/structures
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Did the rear-end collision occur because a driver Are there elements that obscure a driver's’
did not check the car ahead on time? 1 | view of vehicles ahead? - | 11 31 18-1
2
Noticed too late Are there elements that distract a driver so
2 | heis not attentive? - 15-2 19-2
c Did the rear-end collision occur because a driver Are there elements that encourage drivers
-g checked for safety, made a judgment and took action, to make frequent emergency stops, to
= but avoided the other car too late? decelerate, or to change lanes on the main
3] 4 14 | road? ind 6-14 | 7-14 14-14 19-14 21-14 | 22-14
g Cannot stop
§
o Did the rear-end collision occur because a driver abruptly stopped or changed lanes in order to avoid Check for elements that cause accidents by
danger? drivers avoiding other danger.
- Dangerous - .
5 vehicle Pedestrian etc. 15 - | 115 | 2-15 | 315 | 4-15 6-15 | 7-15 | 815 | 9-15 14-15 | 15-15 18-15 | 19-15 | 20-15 | 21-15 | 22-15
Avoiding danger \{:’D Avoiding danger Ne3*y D
Did the intersection collision occur because a driver Are there elements that prevent awareness
entered the intersection without confirming safety of the need to try to confirm safety, stop,
1 because the driver was unaware of the need 5 | then advance slowly? - 4-5 19-5
to confirm safety?
_S Did the intersection collision occur because a driver Are the';e elements that block the view of
2 attempted to confirm safety, but entered the intersection drivers? R
3 without being able to do so? 1 R 31 71 18-1 201
5| 2 :
s Are there elements that distract drivers so
@ Cannot see o | they are not attentive? - 192
© the vehicle
=
Did the intersection collision occur because a driver tried Are there elements that encourage drivers
to confirm safety and decided it was safe to proceed? to move forward, start to move, or to cutin
3 4 | dangerously? d
Did the right turn collision occur because a driver Are there elements that obscure the view of
attempted to confirm safety, but turned right 4 | the road ahead of drivers turning right? - | 11 39
without succeeding in confirming safety?
2 -
Are there elements that distract dnve'r’s
& : turning right so they are not attentive? g .
5 Cannot see the vehicle 2 - 92 192
=
2 Did the right turn collision occur because a driver tried to confirm safety, decided that it was possible Are there elements that encourage
o to turn right, and tried to turn right? dangerous right tums?
£ Dangerous through travel 4 - 21-4
a
3 Dangerous
right tumn Are there elements that cause drivers
; turning right to misunderstand the behavior
7 | of oncoming traffic? had 27 4-7
Did this collision occur because the driver turned left Are there elements that encourage abrupt
without predicting a vehicle ahead? left turning?
g 1 6 nd 8-6 19-6
% Abruptly turning feft
?,, Did the collision occur while the driver turned left Are there elements that distract a driver so
£ after checking for safety but without confirming safety? & he is not attentive?
3
[} 2 2 —
Cannot see the vehicle i

* Accident process pattern No. 5 is an accident that occurs when a driver has made an emergency stop or lane change to avoid danger, and

it is difficult to hypothesize causes of this type of accident. So for this countermeasure (Cause code O-15), refer to other types of

accidents.

* Although causes of accidents are recorded for road environments that cause accidents, there are cases
where the columns below them are all empty columns. This has been done so that the contents can be
expanded by accumulating future data and obtaining the views of users of this manual.

Pattern (3) Intersection — signaled — 4 roads — 2-lanes or less x 2-lanes or less
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Pattern (3) Intersection — signaled — 4 roads ~ 2-lanes or less x 2-lanes or less (2/2)

Road environments that cause accidents
Accident process Traffic environment factors
Accessories/ . i Road surface " Congestion/
structure Roadside environment conditions Signals stopping Others
23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 40 41 42 43 44
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e | g e |g¢|8 S |RE|8E| 28|33 3 T |e | 2 |%8|8c| 8 |[&|% [g |2 |S¢g
&| & 3¢ 29 | = £ |88 | o8 |Eo| o8| 5> |5 = | g2 | g 2 B |lo |2 |3 St
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1 EE |2s|z | 2 |S5|388 |85 (8|2 | g |3 |[B | e |°8|=8| E § |8 |8 |&o|%E
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- o Ly | £ bod 251 25| 242 | 2 | 5% £ Q [ @ e | €2 ® 96 | Lo | 28| S8
< £5 ol v> 9 SE| =S | @8 | 2| §% & k-] £ o o 58 | 82 ] 2 5 | g9 | 2 | B85
Ed | 3£/ 98| 2 |25 | 85|25 |Ec(285| ° |20 | 25| C | wE | 25 8 £ 158|538 85] 2%
S |22 |28 % |z |22 |28 |25 80| 5 |B%|Bs| E |se|8E| £ |5 |TE|se|82| iz
(k] oalre | f |8 |58 |6 (SeElos | o&@ |og | GE| &6 |wS a2 | O < |<E|Zz5|3£]108
Did the rear-end collision occur because a driver Are there elements that obscure a driver’s
did not check the car ahead on time? ) _,{;:H_—__> - | 1 | view of vehicles ahead? i 241
0 .
Noticed too late Are there elements that distract a driver so
— | 2 | heis not attentive? - 30-2 33-2 40-2 | 41-2
c Did the rear-end collision occur because a driver i Are there elements that encourage drivers
g checked for safety, made a judgment and took action, m’ to make frequent emergency stops, to
‘-_; but avoided the other car too late? : decelerate, or to change lanes on the main
5} 4 = | 14 | road? g 26-14 29-14 31-14 | 32-14 40-14|41-14 44-14
2 Cannot stop D
e
8
o Did the rear-end collision occur because a driver abruptly stopped or changed lanes in order to avoid Check for elements that cause accidents by
danger? drivers avoiding other danger.
. Dangerous Pedestri "
5 vehicle \ edesinanele. 1 - 115 - | 2315 |24-15 26-15 29-15 | 30-15 | 31-15 | 32-15 | 33-15 | 34-15 | 35-15 | 36-15 38-15 [40-15{41-15|42-15(43-15{44-15
Avoiding danger D Avoiding danger w3y D
Did the intersection collision occur because a driver m Are there elements that prevent awareness
entered the intersection without confirming safety ) of the need to try to confirm safety, stop,
1 because the driver was unaware of the need Failure to confirm safety — | 5 | thenadvance slowly? i 29-15 | 30-5 33-5 40-5 | 41-5
to confirm safety? -
§ Did the intersection collision occur because a driver Are there elements that block the view of
2 attempted to confirm safety, but entered the intersection drivers? }
K] without being able to do so? R . - 241 38-1 44-1
S 2 Cannot see the vehicle
b Cannot see Are there elements that distract drivers so
ive?
g the vehicle N they are not attentive? > , 26-2 30-2 33.2 40-2 | 41-2 43-2
Q . i .
g .
Did the intersection collision occur because a driver tried m Are there elements that encourage drivers
to confirm safety and decided it was safe to proceed? A to move forward, start to move, or to cut in
3 Cannot stop é — | 4 | dangerously? ) d 34-4 | 354
Did the right turn collision occur because a driver Are there elements that obscure the view of
attempted to confirm safety, but turned right D * —~ | 1 | the road ahead of drivers turning right? N 231 33-1 38-1
without succeeding in confirming safety? :
2 .
m Are there elements that distract drivers
; 1T b
£ Cannot see the vehicle S turning right so they are not attentive? - 422 | 432
=
E
2 Did the right turn collision occur because a driver tried to confirm safety, decided that it was possible Are there elements that encourage
o to turn right, and tried to turn right? . Dangerous through travel dangerous right turns? :
£ - | 4 nd .| 34-4
8 Dangerous
3 right turn
Are there elements that cause drivers
turning right to misunderstand the behavior
— | 7 | of oncoming traffic? nd 36-7
Did this collision occur because the driver turned left Are there elements that encourage abrupt
without predicting a vehicle ahead? left turning?
£ 1 = | 6 nd 29-6
=3
bt Abruptly turning left
5 ptly g
; Did the collision occur while the driver turned left Are there elements that distract a driver so
£ after checking for safety but without confirming safety? A * he is not attentive?
2
(s] 2 > 2 — | A 43-2
Cannot see the vehicle

* Accident process pattern No. 5 is an accident that occurs when a driver has made an emergency stop or lane change to avoid danger, and
it is difficult to hypothesize causes of this type of accident. So for this countermeasure (Cause code O-15), refer to other types of
accidents.
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Pattern (4) Intersection — signaled — 4 roads — multi-lane road x 2-lane or less road

(1/2)

Road environments that cause accidents
Accident process , Road factors Traffic environment factors
Road alignment Intersection shape Lanes/width Accessories/structures
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
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S| State of occurrence of accidents Check points of the rac::a;(iideerrl'\t/;ronment that causes < g 3 & g %’ 5 g 8 8 2 2o | 2% $5 '§ -] 'é g Iges| = 25| 55| 88
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< 3| ¢ Es| 8 | 3 | g | 8| % |25185| E | E | Qp|eg|2x |8 (882|85y| & |&n | 9= | £8
) e | 5 5 o 2 2 (e |58 5 2 | 58|92 | €58 | >c |>ES|83El o |58 |25 |EQ
= o a o ® € c 2 g a o9 | ol o <] c2 1 g® | ] £06 |£52]|828] O 25 | o8| 5@
s|l gl 8|cse| §|5|3| 8|85 |2ae|se| ¢| 5 |8s|5&|5%2|8s|893|8%E| @ [E£|5E|¢2¢
7 3 6 1Sl o o < o] O |6E| S| 2 z o6 la3|0§51os 08G|e08| & |62 |22(6% |
Did the rear-end collision occur because a driver Are there elements that obscure a driver’s
did not check the car ahead on time? _%D 1 | view of vehicles ahead? -1 14 341 1741 | 1841
2 - " -
Noticed too late Are there elements that distract a driver so
2 | heis not attentive? i 15-2 19-2
=4
2 Did the rear-end collision occur because a driver Are there elements that encourage drivers
= checked for safety, made a judgn))ent and took action, m to make frequent emergency stops,to
'8 4 | butavoided the other car too late? 14 ?:ac:'l)erate, or to change {anes on the main N 614 914 14-14 19-14 21-14 | 22-14
2 ?
9 Cannot stop !
[+:]
& Did the rear-end collision occur because a driver abruptly stopped or changed lanes in order to avoid Check for elements that cause accidents by
danger? drivers avoiding other danger.
Dangerous i
5 [?"e'"c'e * Pedestrian etc. 15 - [115| 215|315 | 415 [ 515 | 6-15 | 7-15 | 8-15 | 9-15 | 10-15] 11-15 14-15|15-15[16-15 [ 17-15| 18-15 [ 19-15 | 20-15 | 21-15 | 22-15 | 23-15
Avoiding danger D Avoiding danger ™ I————>
Did the right turn collisiofn occur because a driver /;;re there elerraenftsd that obscure the vi;:w of
attempted to confirm safety, but turned right D the road ahead of drivers turning right? .
without succeeding in confirming safety? * 1 d R 34 1741 20-1 231
2 " -
: - Are there elements that distract drivers
turning right so they are not attentive?
£ . Cannot see the vehicle 2 g i 9-2 19-2
£
2 Did the right turn collision occur because a driver tried to confirm safety, decided that it was possible Are there elements that encourage
o to turn right, and tried to turn right? ’ dangerous right turns?
£ Dan 4 nd 10-4 21-4
5 gerous through travel
a i
3 Dangerous "
right turn Are there elements that cause drivers
turning right to misunderstand the behavior
7 | of oncoming traffic? d 2-7 4-7
Did the intersection collision occur because a driver entered Are there elements that prevent awareness
the intersection without confirming safety because the driver D —&::‘ of the need to try to confirm safety, stop,
1 was unaware of the need to confirm safety? Failure to confirm safety é 5 | then advance slowly? i 4-5 19-5
& Did the intersecti?n collifsion occur because a driver Are the'l"e elements that block the view of
2 attempted to confirm safety, but entered the intersection drivers? ; . . -~ N .
] without being able to do s0? 1 - 31 . 17-1 1184 20-1
c 2 .
% Cannot see the vehicie Are there elements that distract drivers so
2 g Cannot see 2 | they are not attentive? N 19-2
@ the vehicle
E
Did the intersection collision occur because a driver tried Are there elements that encourage drivers
to confirm safety and decided it was safe to proceed? ) —3;:3 to move forward, start to move, or to cut in
3 4 | dangerously? nd
Cannot stop
Was the pedestrian hit by the vehicle when crossing the road while ignoring the signal? Arz th;e[e ekzmems that gn%ourage \
pedestrians to cross roads dangerously.
P4
® k Dangerous R
: 1 crossing 13 - 11-13
3 Dangerous Dangerous k —
S crossing crossing
©
£ Did the vehicle hit the pedestrian because the driver tried to confirm safety, but proceeded without Are there elements that block the view of N 39 161 | 17-1 | 18-1 20-1
=] 1
€ being able to see the pedestrian? drivers?
5 - -
@ Are there elements that distract a driver so ~ " % -
2 2 | heis not attentive? - 5-2 82 | 92 (102 19-2
@ 2 ] 5 | Arethere elements that obscure the IR
§ Pedestrian not visible intersection? .
Are there elements that encourage drivers
4 | to move forward, start to move, or to cut in i
dangerously?

* Accident process pattern No. 5 is an accident that occurs when a driver has made an emergency stop or lane change to avoid danger, and
it is difficult to hypothesize causes of this type of accident. So for this countermeasure (Cause code O-15), refer to other types of

accidents.

* Although causes of accidents are recorded for road environments that cause accidents, there are cases
where the columns below themn are all empty columns. This has been done so that the contents can be
expanded by accumulating future data and obtaining the views of users of this manual.

Pattern (4) Intersection — signaled — 4 roads — multi-lane road x 2-1ane or less road
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Pattern (4) Intersection — signaled — 4 roads — multi-lane road x 2-lane or less road : (2/2)

Road environments that cause accidents
Accident process Traffic environment factors
; . . : Road surface . Congestion/
Accessories/structure Roadside environment conditions Signals stopping Others
24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 40 41 42 43 44
8 > e
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- | 5 g | o 5 |$ |28 |2 | = T | 55 | © e |8 | € |2
£l 8 = £ o | g | €8 | £ = o & 9E | Eo £ ® > g
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83 | 38 | B | S |B|s8|eb|se| B |82|z28| 2 |oE|8Bs| & | o |fE|sp|3E|iz
68 | @8 | & |2E|55|58 |58 88| & |[fe|we| & |as |88 8 | T |<E|25|3£1]6%8
Did the rear-end collision occur because a driver Are there elements that obscure a driver’s
did not check the car ahead on time? — | 1 | view of vehicles ahead? —| 241
. —d_ >
- Are there elements that distract a driver so
Noticed too late — | 2 | heis not attentive? - 30-2 33-2 40-2 | 41-2
.5 Did the rear-end collision occur because a driver Are there elements that encourage drivers
K checked for safety, made a judgment and took action, to make frequent emergency stops, to
3 but avoided the other car too late? decelerate, or to change lanes on the main
o 4 — | 14 | road? ) i 26-14 29-14 31-14 | 32-14 40-14 | 41-14 44-14
<
3
T Did the rear-end collision occur because a driver abruptly stopped or changed lanes in order to avoid Check for elements that cause accidents by
danger? Dangerous - drivers avoiding other danger.
vehicle 2 $ Pedestrian etc.
5 £ - [ 15 i —| 2415 | 25-15 | 26-15 29-15 | 30-15 | 31-15 | 32-15 | 33-15 | 34-15 | 35-15 | 36-15 | 37-15 38-15 40-15 | 41-15 | 42-15 | 43-15 | 44-15
Avoiding danger D Avoiding danger . D ‘
Did the right turn collision occur because a driver Are there elements that obscure the view of
attempted to confirm safety, but turned right O the road ahead of drivers turning right? - 331 38-1
without succeeding in confirming safety? . :
2
c : Are there elements that distract drivers
E Cannot see the vehicle — | 2 | turning right so they are not attentive? i 26-2 42-2 | 43-2
E
2 Did the right turn collision occur because a driver tried to confirm safety, decided that it was possible Are there elements that encourage
o to turn right, and tried to turn right? G dangerous right turns? - 34-4
:E’ Dangerous through travel
s}
3 Dangerous Are there elements that cause drivers
right turn turning right to misunderstand the behavior
£ — | 7 | of oncoming traffic? - 36-7
Did the intersection collision occur because a driver Are there elements that prevent awareness
entered the intersection without confirming safety because of the need to try to confirm safety, stop,
1 the driver was unaware of the need to confirm safety? — | 5 | then advance slowly? hd 29-5 | 30-5 33-5 40-5 | 41-5
i
§ Did the intersection collision occur because a driver Are there elements that block the view of
2 attempted to confirm safety, but entered the intersection drivers? . ) _ R
3 without being able to do so? it - =) 244 38-1 441
S 2 Cannot see the vehicle
2 Cannot sse Are there elements th;ll distract drivers so
g \he vehidle e P they are not attentive? - 262 30-2 33.2 40-2 | 41-2 43-2
QO [
£ :
Did the intersection collision occur because a driver _3“:} Are there elements that encourage drivers
tried to confirm safety and decided it was safe to proceed? to move forward, start to move, or to cutin
3 Cannot stop 6 — | 4 | dangerously? i 34-4 | 35-4
Was the pedestrian hit by the vehicle when crossing the road while ignoring the signal? Are there elements that encourage
pedestrians to cross roads dangerously.
s
3 1 k Dangerous - | 13 - 34-13 38-13
a crossing )
o Dangerous Dangerous * —— !
o crossing crossing } -
£ Did the vehicle hit the pedestrian because the driver tried to confirm safety, but proceeded without B Are there elements that block the view of - | 244 25.1 38-1
2 being able to see the pedestrian? drivers? )
5 — -
Q Are there elements that distract a driver so
g | 2 | heis not attentive? - 26-2 33-2 412
% 2 '—’i :? I _Arte thecrtg elgments that obscure the - 405
s Pedestrian not visible Intersection’: i
Are there elements that encourage drivers
— [ 4 | tomove forward, start to move, or to cutin nd 34-4 37-4
dangerously? |

* Accident process pattern No. 5 is an accident that occurs when a driver has made an emergency stop or lane change to avoid danger, and!
it is difficult to hypothesize causes of this type of accident. So for this countermeasure (Cause code O—15), refer to other types of i
accidents.
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Pattern (5) Intersection — signaled — 4 roads — multi-lane road x multi-lane road : | (1/2)

Road environments that cause accidents
Accident process Road factors Traffic environment factors
Road alignment Intersection shape Lanes/width Accessories/structures
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Did the rear-end collision occur because a driver Are there elements that obscure a driver's
did not check the car ahead on time? -1 view of vehicles ahead? =1 11 3-1 17-1 | 181
2
I Are there elements that distract a driver so
Noticed too late - | 2 | heis not attentive? - 15-2 19-2
c Did the rear-end collision occur because a driver Are there elements that encourage drivers
.g checked for safety, made a judgment and took action, to make frequent emergency stops, to
2 but avoided the other car too late? decelerate, or to change lanes on the main
33 4 — | 14 | road? i 6-14 | 7-14 9-14 14-14 19-14 21-14 | 22-14
©
g Cannot stop
g
[/ Did the rear-end collision occur because a driver abruptly stopped or changed lanes in order to avoid Check for elements that cause accidents by
danger? drivers avoiding other danger.
Dangerous -
vehicle $ Pedestrian etc.
5 Q : -1 15 -] 115 | 2-15 | 3-15 | 4-15 6-15 | 7-15 | 8-15 | 9-15 | 10-15 12-15 14-15 | 15-15 17-15]18-15 | 19-15 | 20-15 | 21-15 | 22-15
Avoiding danger D Avoiding danger D
Did the right turn collision occur because a driver Are there elements that obscure the view of
attempted to confirm safety, but turned right the road ahead of drivers turning right?
without succeeding in confirming safety? I - 31 121 171 201
.l 2 B,
c Are there elements that distract drivers
5 turning right so they are not attentive? .
:::’ Cannot see the vehicle | 2 - 92 19-2
5
o Did the right turn collision occur because a driver tried to confirm safety, decided that it was possible Are there elements that encourage
£ i i ight? i ?
£ to turn right, and tried to turn right? Dangerous through travel -] 4 dangerous right turns? N 10-4 21-4
a
3 Dangerous -
right turn Are there elements that cause drivers
turning right to misunderstand the behavior _ ~
17 o oncoming traffic? - 27 47
Did the intersection collision occur because a driver m Are there elements tha:‘grevem awareness
entered the intersection without confirming safety of the need to try to contirm safety, stop,
1 because the driver was unaware of the need to confirm safety? Failure to confirm safety é = | 5 | then advance slowly? - 4-5 19-5
,_5_ Did the intersection collision occur because a driver Are there elements that block the view of
2 attempted to confirm safety, but entered the intersection drivers? _ . - _ . .
8 without being able to do so? MR - 31 71 17-1 | 181 20-1
§ | 2 - -
g Cannot see {:Ire there eltentltent? th‘?t distract drivers so
Q ey are not attentive? .
g the vehicle =] 2 4 - 19-2
E
Did the intersection collision occur because a driver tried to " Are there elements that encourage drivers
confirm safety and decided it was safe to proceed? m to move forward, start to move, or to cut in
3 6 — | 4 | dangerously? -
Cannot stop
Did this collision occur because the driver turned left Are there elements that encourage abrupt
without predicting a vehicle ahead? left turning?
c 1 - | 6 - 8-6 19-6
3
-10-'; Abruptly turning left
g Did the collision occur while the driver turned left after checking Are there elements that distract a driver so
£ for safety but without confirming safety? & * he is not attentive?
p=
(] 2 — 2 -
Cannot see the vehicle|;
* Accident process pattern No. 5 is an accident that occurs when a driver has made an emergency stop or lane change to avoid danger, and * Although causes of accidents are recorded for road environments that cause accidents, there are cases
itis difficult to hypothesize causes of this type of accident. So for this countermeasure (Cause code O-15), refer to other types of where the columns below them are all empty columns, This has been done so that the contents can be

accidents. expanded by accumulating future data and obtaining the views of users of this manual.
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Pattern (5) Intersection — signaled — 4 roads — multi-lane road x multi-lane road | (2/2)

Road environments that cause accidents
Accident process Traffic environment factors
“C/:"eus:&'r':s Roadside environment Rgggdsi‘t‘i’gﬁ:e - Signals C:;'og:;:'fg’"/ Others
23 24 25 26 27 28 29 30 31 32 B3 34 35 36 37 38 40 41 42 43 44
P [=]
2 F = pade o IS - > @
E g |3 g g 2 58| 8 g g
& O 2 2 > c | 2 s £ £ | € E]
c 9] @ & £ 4] e | = 2 3 ES | & S 2
€| @ 5 ° o 5 .2 £ ° ° S | 2 o S = o
e | £ 4 s | 2 z | 25| S8 |5 |3 e |§ °f | £3 £ |8 |z |3
S| % ¢ |2 |E | 2|28 |28|=8|2 |8 g | 25 |88 > |8 |§ |&:
8 2 S < @ 2 BE| T £1 6 g 2 @ k] S s “E’ [ € L] z a S
g @ . " = c 2 8v 28 | Ea < = £L £ © £
8 § State of occurrence of accidents Check points of the ﬁi?diﬂ\{gonmem that causes '§ S 2. g 'g o £ 3 g-ﬁ § 2 § “c(;; 8 5% | a8 ° @ IS, ® 2 2 5
] o c® 6o | B D ([SE| o2 | 5% 3 © 4 £5 | 2 ] o R 2 S SE
] & =8 BT | 2 o a5 8 [ |20 | @ c 2 £ C= | @5 ] = © 2 @ E
8l 2 22 12505 | 8 |85 |2S|32 %8 % g2 |8 |z |88l2c| £ |§ |2 |E |3 |e¢
e c - o o S o5 8= .S @ 3 2] = @ Q =44 £ 3 = o] o £
s E8 |%s|z | 2|25 |85 (&5 |88 e |35 |8 | & |c8|88| € £ 1% |8 |&o|=E
B 2L les|2 | E |38 |%8|%E |82 8s| |8 || ¢ 82|85 = 2 |8c|on | g€ | 8
g od S5 | B £ v | o€ | v | 85 | 8¢ c 5} P 5 8e | 86 O £ 5| 22| 8% | co
< e 28128, 1 o 38 | 6| 5g | 58 | W 3 3 £5 3 £5 | &5 o o | 2| 3|55 | £
€8 |82|vg| 8 |2t |52 |S8|22 |88 | 5 |3, |EE| © |SB |8e| B £ 1558|8855 |28
SE | 53|93 | 5 |58 |28|88 |25 85| 5 |8 (58| 5 |E2|82] 2 | s |sg|sS|&d| %k
c= 83 P-4 g o 1% Z2a » O o2 3 8o 23 e o8 8 H 5 Co o ® 82 s 9
ok 83|88 | & |2X|S%|58|SE 85| & |fe|6e| & |ws | a8 (] < |<E|285|5£ |08
Did the rear-end collision occur because a driver Are there elements that obscure a driver's
did not check the car ahead on time? =1 view of vehicles ahead? i 2441
2
Are there elements that distract a driver so
Noticed too late — | 2 | heis not attentive? i 30-2 33-2 40-2 | 41-2
g Did the rear-end collision occur because a driver Are there elements that encourage drivers
& checked for safety, made a judgment and took action, to make frequent emergency stops, to
5 but avoided the other car too late? S ; decelerate, or to change lanes on the main
31 4 — | 14 | road? i 26-14 29-14 31-14 | 32-14 40-14 [ 41-14 44-14
b
8
3 Did the rear-end collision occur because a driver abruptly stopped or changed lanes in order to avoid Check for elements that cause accidents by
danger? drivers avoiding other danger.
Dangerous X
5 vehicle Pedestrian etc. | —, | 15 - | 2315 |24-15 26-15 29-15 | 30-15 | 31-15 | 32-15 | 33115 | 34-15 | 35-15 [ 36-15 38-15 | 40-15|41-15]42-15| 43-15 | 44-15
Avoiding danger D Avoiding danger " D
Did the right turn coliision occur because a driver Are there elements that obscure the view of
attempted to confirm safety, but turned right -1 the road ahead of drivers turning right? - 231 33-1 38-1
without succeeding in confirming safety? N g
2
c Are there elements that distract drivers
5 O turning right so they are not attentive? I : 262 42.2 | 43.2
£ Cannot see the vehicle '
o
= Did the right turn collision occur because a driver tried to confirm safety, decided that it was possible Are there elements that encourage
£ to turn right, and tried to turn right? - dangerous right turns? -
8 Dangerous through travel 4 34-4
3
gg&g&?‘us Are there elements that cause drivers
- turning right to misunderstand the behavior
- |7 : e 36-7
of oncoming traffic?
Did the intersection collision occur because a driver 3 - Are there elements that prevent awareness
entered the intersection without confirming safety ; —&::‘ of the need to try to confirm safety, stop,
1 because the driver was unaware of the need to confirm safety? ) — | 5 | then advance slowly? i 29-5 | 30-5 33-5 40-5 | 41-5
Failure to confirm safety )
§ Did the intersection collision occur because a driver * Are there elements that block the view of )
2 attempted to confirm safety, but entered the intersection drivers? R ‘ _ R
K] without being able to do so? - - 24-1 38-1 441
S 2 Cannot see the vehicle _
E c Are there elements that distract drivers so
2 : annot see — | 2 | theyare not attentive? - 26-2 30-2 33-2 40-2 | 41-2 43-2
g the vehicle
£ Did the intersection collision occur because a driver Are there elements that encourage drivers
tried to confirm safety and decided it was safe to proceed? to move forward, start to move, or to cutin
dangerously?
3 - | 4 e 34-4 | 35-4
Did this collision occur because the driver turned teft Are there elements that encourage abrupt
without predicting a vehicle ahead? left turning?
c 1 - | 6 had 29-6
E
5 .
3, Did the collision occur while the driver turned left after checking Are there elements that distract a driver so
£ for safety but without confirming safety? he is not attentive?
5 .
a 2 | 2 - 43-2
Cannot see the vehicle|s '
* Accident process pattern No. 5 is an accident that occurs when a driver has made an emergency stop or lane change to avoid danger, and |
itis difficult to hypothesize causes of this type of accident. So for this countermeasure (Cause code ©-15), refer to other types of :
accidents.
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Pattern (6) Intersection — signaled — 5 roads or more (1/2)
Rpbad environments that cause accidents
Accident process Road factors Traffic environment factors
Road alignment Intersection shape Lanes/width Accessories/structures
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22
@ o ® Co c
. L s 15 |22l 28 2 | £
z S 3 5 o | & gL @ e g8 P
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s |8 2| 5 e | 2| % 2 |& | = ES|ox | 3€ | £_|Ss |€28] § | 5% (%
S 2 = S £ b c @ = 5 c == | gC atc c |8 |e% = > o
s | g i i £ b ® = S o |5 < 5 cx z £® |5%g| & | § ol ]
© § State of occurrence of accidents Check points of the I:cactiideel:l\{lsronment that causes < g 2 s g g £ B 2 2 5 SE | o2 g 2 .é.% < g |ges g %"é’ 55
5 = 5 s g | E g = | g8 [ 2 Y |88 53 | £g
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8 | 8 25| 2 | = | 5| 2| 2 |38 |38| 5| T |oe|o8|28|8e|Be,|EE5| 5 | 85| =28
< 3 | g Sg| 3 | 3| g | S| 3 |28|8] E| €S |Bg|ex|ex|2s|882|sty| & |5y | g2
a i - °9 8 8 o 2 a | £€32 | 23 6 3 55 | Qo | S8 | >5 |88 |Sas| o | o2 | 26
Sl 2| g |2g| €| €| 2| 2| 6 |%2|25| | 8 |55|8|xa]|5°|523(828| & |22 |28
£ s 2 5 S S 3 B ol | E2 | §8 3 g | 28| 5E€| 52| 8¢ |8P3|cg5| 2 5 | 5
£ c = o2 [+} £~ [ Qo
7] = o d.c [&] s] < (o] (] oc | Jg = -4 Oc |« | 0c |09 |0 35G|lEOS] o B> | >
Did the rear-end collision occur because a driver Are there elements that obscure a driver's
did not check the car ahead on time? 1 | view of vehicles ahead? = 11 3-1 17-1 | 18-1
2
- Are there elements that distract a driver so
Noticed too late 2 | heis not attentive? i 9-2I 15-2 19-2
t
- Did the rear-end collision occur because a driver Are there elements that encourage drivers '
S checked for safety, made a judgment and took action, to make frequent emergency stops, to
o but avoided the other car too late? decelerate, or to change lanes on the main
3 4 - 14 { road? nd 6-14 | 7-14 9-14 14-14 19-14 21-14 | 22-14
2 Cannot stop D
¢
]
@ Did the rear-end collision occur because a driver abruptly stopped or changed lanes in order to avoid Check for elements that cause accidents by
o 9 ] >le
danger? drivers avoiding other danger.
Dangerous Pedestrian e A
5 vehicle edestrian efc. 15 —| 115 [ 2115 | 315 | 415 615 | 715 9-15 14-15 | 15-15 17-15 | 18-15| 19-15 | 20-15 | 21-15 | 22-15
Avoiding danger D Avoiding danger D
Did the right turn collision occur because a driver Are there elements that obscure the view of
attempted to confirm safety, but turned right D * 4 | theroad ahead of drivers turning right? I 31 17-4 20-1
without succeeding in confirming safety?
2
Are there elements that distract drivers
: turning right so they are not attentive? a9
g Cannot see the vehicle 2 9ng 4 - 9-2 19-2
£
2 Did the right turn collision occur because a driver tried to confirm safety, decided that it was possible Are there elements that encourage
o to turn right, and tried to turn right? dangerous right turns? 3
£ 4 d 21-4
8 Dangerous through travel i
3 |
Dangerous Are there elements that cause drivers :
rightturn turning right to misunderstand the behavior *
¥ 7 | of oncoming traffic? i 2-7 4-7
! ‘
Did the intersection collision occur because a driver Are there elements that prevent awareness !
entered the intersection without confirming safety because m of the need to try to contirm safety, stop, :
4 | the driver was unaware of the need to confirm safety? AR 5 | thenadvance slowly? - 4-5 19-5
: Failure to confirm safety é
i
§ Did the intersection collision occur because a driver G\re the;e elements that block the view of i
2 attempted to confirm safety, but entered the intersection _3;;'} rivers? = R ) . \ . i i
§ without being able to do so? ! 1 11 31 71 ' 17-1 | 181 20-1
s Cannot see the vehicl -
2 2 annot see fne vehicle Are there elements that distract drivers so
a % Cannot see o | theyare not attentive? - 92 19.2
o the vehicle ;
‘E‘ :
Did the intersection collision occur because a driver Are there elements that encourage drivers
tried to confirm safety and decided it was safe to proceed? to move forward, start to move, or to cutin
3 4 dangerously? =
Cannot stop 6

* Although causes of accidents are recorded for road environments thaticause accidents, there are cases
where the columns below them are all empty columns. This has been done so that the contents can be
expanded by accumulating future data and obtaining the views of useas of this manual.

* Accident process pattern No. 5 is an accident that occurs when a driver has made an emergency stop or lane change to avoid danger, and
itis grfﬁcult to hypothesize causes of this type of accident. So for this countermeasure (Cause code O-15), refer to other types of
accidents.

M
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Pattern (6) Intersection — signaled — 5 roads or more l (2/2)

Road environments that cause accidents
Accident process Tratfic environment factors
Accessories/ . . Road surface " Congestion/
structure Roadside environment conditions Signals stopping Others
23 24 25 26 27 28 29 30 31| 32 33 34 35 36 37 38 40 M 42 43 44
o [ =
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° 1] ’ g2 o~ é E %’g E% o a © E”] K<) Si Q.; o a E=% ® @2 -°q>,
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> | & ; 5@ 2o 5 o b Ea -] £ =0 £ 2 S o s
- 5 23 >+l s 7] st | @ | T | o 3 2 © = 2 | e c o & = o0
3 8 |2 |2 g | 85|25 |82 |8y | 8 » S | o | 85| B¢ £ 8|5 |2 |&
8 og 22 |5 % |oe|[8g |55 |38 i & |3 3 € 28| ca £ g g |2 @ *E
< of | 55|35 £ | 82|88 | 2822 g |5 o | B | 8| se © E| 5|2 |g8 |8
£8 |85 |%5>| 9 |28 |8 | g2 | 2| 8 s | e £ 2 | 58| 82 & 2| > |a_|2e |[8E
' =3 3£ |98 £ |2€E | 8E | 2 | £c| ETl| > = o |- | &8¢ 8 £ g |18g | & 28
sa Esle3 | E |S5| o5 |3 |5 | 58 2 |2 © t |95 | @> o £ 2 | 58| 52| EE
g [231385| 3 |83 |85 |22 |22 |88 | 8 |8s| 2| 2 |28 |8E| 8 e | B |og|35|c8
oct o2 || & [FF (583|655 a51] & (€8] & o oS5 1la3 (5] < < | z2 |8 |08
Did the rear-end collision occur because a driver Are there elements that obscure a driver’s i
did not check the car ahead on time? — | 1 | view of vehicles ahead? i 24-1
2
Are there elements that distract a driver so
— | 2 | heis not attentive? had 30-2 33-2 40-2 | 41-2
c Did the rear-end collision occur because a driver Are there elements that encourage drivers
o checked for safety, made a judgment and took action, to make frequent emergency stops, to
o but avoided the other car too late? decelerate, or to change lanes on the main )
K] 4 — | 14 | road? nd 26-14 29-14 31-14.| 32-14 40-14 | 41-14 44-14
2 Cannot stop D
¢
®
& Did the rear-end collision occur because a driver abruptly stopped or changed lanes in order to avoid Check for elements that cause accidents '
danger? by drivers avoiding other danger. :
Dangerous $ :
vehicle Pedestrian etc. )
5 - [ 15 - 23-15 24-15 26-15 29-15 ( 30-15 | 31-15| 32-15 | 33-15 | 34-15 | 35-15 | 36-15 38-15 | 40-15|41-15| 42-15| 43-15 | 44-15
Avoiding danger D Avoiding danger D ‘
Did the right turn collision occur because a driver Are there elements that obscure the view '
attempted to confirm safety, but turned right D * — | 1 | oftheroad ahead of drivers turning right? - 23.1 33-1 38-1
without succeeding in confirming safety? \
2 .
w Are there elements that distract drivers :
g Cannot see the vehicle N turning right so they are not attentive? - 26-2 \ 42.2 | 432
=4 |
£
2 Did the right turn collision occur because a driver tried to confirm safety, decided that it was possible Are there elements that encourage !
o to turn right, and tried to turn right? dangerous right turns? .
e i
g Dangerous through trave! - 4 - ] 34-4
a
3 Dangerous '
right tum Are there elements that cause drivers
turning right to misunderstand the behavior
— | 7 | of oncoming traffic? - 36-7
Did the intersection collision occur because a driver Are there elements that prevent awareness
entered the intersection without confirming safety of the need to try to confirm safety, stop, .
1 because the driver was unaware of the need to confirm safety? I then advance slowly? - 29.5 | 30-5 ‘ 33.5 40-5 | 41-5
_5 Did the intersection collision occur because a driver Are theqre elements that block the view of
2 attempted to confirm safety, but entered the intersection drivers? R .
K] without being able to do s0? : M - 241 38-1 a4-1
s 2 Cannot see the vehicle
= Are there elements that distract drivers so :
3 Cannot see they are not attentive? ‘
] the vehicle -1 2 ad 26-2 30-2 33-2 40-2 | 41-2 43-2
(7] N
E ! )
Did the intersection collision occur because a driver r _&;} Are there elements that encourage drive{s
tried to confirm safety and decided it was safe to proceed? to move forward, start to move, or to cut in
3 Cannot stop é ~ | 4 | dangerously? - 34-4 | 354
! :
* Accident process pattern No. 5 is an accident that occurs when a driver has made an emergency stop or lane change to avoid dander. and
it is difficult to hypothesize causes of this type of accident. So for this countermeasure (Cause code O—15), refer to other types of )
accidents. ' i '
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Pattern (7) Uninterrupted flow section - city — 2-lanes or less — No sidewalks : _ (1/2)

Road environments that cause accidents
Accident process Road factors | Traffic environment factors
Road alignment Intersection shape Lanes/width Accessories/structures
1 2 3 4 5 6 7 8 9 10 " 12 13 14 15 16 17 18 19
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= 3 @ g ] 28 |9 2E | & bt g - |ss o
£ e - 3 o o 2 | 85 |oS§ = @ R e |o® =]
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Did the collision occur because the vehicle ahead unexpectedly Dangerous stopping Are there elements that encourage drivers to make frequent
1 stopped, decelerated, or changed lanes? and decelerating - emergency stops, to decelerate, or to change lanes on the
14 Ny d? d 8-14 9-14 10-14 | 11-14 18-14
Y i o
Did the collision occur because of delayed awareness of the vehicle ahead? Are there any elements that block visibility?
c
g |2 R : SRE
% Noticed too late ’
(5]
2 Did the collision occur the driver tried to confirm safety, made a judgment, % Are there any elements that contribute to driver inability to
o 4 and took action, but could not contro! the vehicle? I s > - 8 control a vehicle? -
] Cannot stop
g .
Did the collision occur because a driver abruptly stopped Dangerous vehicle Check for elements that cause accidents by drivers avoiding
or changed lanes to avoid danger? m other danger. |
5 had 15 -1 1-156 2-15 4-15 5-15 8-15 9-15 10-15 | 11-15 | 12-15 | 13-15 | 14-15 18-15 | 19-15
Avoiding danger :
[ > , : |
Did the vehicle hit the pedestrian crossing the road at a place . Are there elements that encourage pedestrians to cross !
1 where the driver did not know that pedestrians cross the road? Dangerous crossing — | 13 | roads dangerously. - i
2 Did the vehicle hit the pedestrian because the driver tried to confirm safety, Are there any elements that block visibility? i
a but proceeded without being able to see the pedestrian? - 2 i
2 2 Can neither see i 1 - 1-1 3-1 g 13-1 19-1
o nor be seen :
2
6 Did the vehicle hit the pedestrian because the driver tried to confirm safety, Are there any elements that contribute to driver inability to
made a judgment, and took action, but coutd not control the vehicle? control a vehicle?
4 Cannot stop k - 8 -
Did the vehicle leave its lane colliding with an object, because Are there any elements that make it difficult to understand the '
it entered a curve or narrow road section at excessive speed alignment? - _ | R
2 without being able to confirm the alignment of the road ahead? Delayed awareness alignment R ' — 12 312 " 812 | 1012 1312 | 1412 18-12
e !
£ Did the vehicle leave its lane colliding with an object because ». Are there any elements that contribute to a driver’s inability to '
g 4 the driver tried to confirm safety, made a judgment, and took action, - g | control avehicle? N 5.8 i
o but could not control the vehicle? @ Cannot stop :
°
[ A 3
§ Did the collision occur because the vehicle shifted Are there any elements that cause danger avoidance type i
into the oncoming lane to avoid danger? o) accidents?
5 “"ton-a.{!gew vehide D—a’kt Pedstrian etc. - |15 - | 115 | 215 | 315 | 415 | 515 815 | 915 | 10-15 | 11-15 | 12-15 | 1315 { 14-15 18-15 | 19-15
Did the head-on collision occur because a driver entered the curve at excessive speed without being able to check the alignment Are there any elements that make it difficult to understand the
of the road ahead, straying into the oncoming lane without being able to confirm safety? alignment?
(it - o y i . i
/“Wingmeouwemhigh 12 1-12 312 1312 | 1412 18-12
without confirming its alignment
2 Did the head-on collision occur because a driver changed to the oncoming lane to pass a vehicle without being able to confirm Are there elements that make it difficult to confirm safety
safety from oncoming vehicles? - 10 before moving into the oncoming lane to pass a vehicle? > | 1-10 3-10
Did the head-on collision occur because a driver entered the oncoming lane when passing without being able to confirm safety?
i~ v
2 T l:_’ ztké)‘\ | > Are there any elem';ams that encourage frequent passing in
El Passing without confiming safety \m | — | 41 | theoncoming lane? - . 12-11
e
o
g Did the head-on collision occur a driver shifted to the oncoming lane I TN I > Are there any slements that encourage drivers to pass
] 3 after judging that it is possible to pass safely? i ——>\ —» | 47 | dangerously when itis easy to misunderstand the behaviorof | _, 2.17 417
* Judging that it i i oncoming vehicles? i
g that it is possible to pass d
1
Did the head-on collision occur because a driver lost contro! R Are there any elements that contribute to driver inability to ’
4 of the vehicle, straying into the oncoming lane? = N g | control avehicle? - 58 ;
Cannot stop W ]
Did the head-on collision occur because a driver . i Check for elements that cause accidents by drivers avoiding
shifted into the oncoming lane to avoid danger? m [ JPangerous vehide Pedestrian etc. other danger. i
5 - | 15 ) = | 115 | 2-1§ 315 | 415 | 5-15 | 815 | 915 | 1015 | 11-15 | 12-15 | 13-15 | 14-15 18-15 | 19-15
Avoiding danger : ] 4-@ Avoiding danger ‘_CI :
1
Did the right turn collision occur because a driver attempted to confirm Are there any elements that block visibility?
e 2 safety, but turned right without succeeding in confirming safety? . 1 -1 14 3-1 19-1
2 Cannot see the vehicle '
ﬁ! Did the right turn collision occur because a driver tried to confirm safety, decided that it was possible to turn right, and tried to turn Are there elements that encourage drivers to drive )
= right? - 4 dangerously or start up, and aggressively cutin. R i
£ .
a 3 RN Are there elements that encourage misunderstanding of the
Judging it is safe — | 7 | behavior of oncoming vehicles. - 2-7 47
to tum right
. ! : . W
* Accident process pattern No. 5 is an accident that occurs when a driver has made an emergency stop or lane change to avoid danger, and * Although causes of accidents are recorded for road environments that cause accidents, there are cases
itis difficult to hypothesize causes of this type of accident. So for this countermeasure (Cause code O-15), refer to other types of | where the columns below them are all empty columns. This has been done so that the contents can be
accidents. ! expanded by accumulating future data and obtaining the views of users of this|manual.
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Pattern (7) Uninterrupted flow section — city — 2-lanes or less — No sidewalks

(2/2)

Road environments that cause accidents
Accident process Traffic environment factors
Roadside environment Road surface conditions Congestion/stopping Others
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Did the collision occur because the vehicle ahead unexpectedly Dangerous stopping  Lane change Are there elements that encourage drivers to make frequent
1 stopped, decelerated, or changed lanes? and decelerating 14 ;rra\ier:gg:gy) stops, to decelerate, or to change lanes on the - 22.14 | 23-14 | 24-14 | 25-15 34-14 35-14 43-14
[ O—REED
e Did the collision occur because of delayed awareness of the vehicle ahead? Are there any elements that block visibility?
:_Z, 2 1 - | 20-1 27-1
Q
© g
e Did the collision occur the driver tried to confirm safety, made a judgment, Are there any elements that contribute to driver inability to
° a and took action, but could not control the vehicle? b3 g | contro! avehicle? N 288 | 29-8 | 30-8 | 31-8
g Cannot stop
[
Did the collision occur because a driver abruptly stopped Dangerous vehidie Check for elements that cause accidents by drivers avoiding
or changed lanes to avoid danger? other danger.
5 - 15 - | 20-15 | 21-15 | 22-15 [ 23-15 | 24-15 { 25-15 | 27-15 | 28-15 | 29-15 | 30-15 | 31-15 34-15 35-15 37-15 41-15 43-15
Avoiding danger D
Did the vehicle hit the pedestrian crossing the road at a place i Are there elements that encourage pedestrians to cross
1 where the driver did not know that pedestrians cross the road? Dangerous crossing 13 | roads dangerously. . 35-13 41-13 43-13
2 Did the vehicle hit the pedestrian because the driver tried to confirm safety, Are there any elements that block visibility?
I but proceeded without being able to see the pedestrian?
=3 2 Can neither see 1 -1 201 | 21-1 271 35-1 43-1
s nor be seen
£
(8] Did the vehicle hit the pedestrian because the driver tried to confirm safety, m * Are there any elements that contribute to driver inability to
made a judgment, and took action, but could not control the vehicle? control a vehicle?
4 Cannot stop k 8 - 288 | 29-8 | 308 | 31-8
Did the vehicle leave its lane colliding with an object, because Are there any elements that make it difficult to understand the
2 it entered a curve or narrow road section at excessive speed 12 alignment? N
without being able to confirm the alignment of the road ahead? @ Delayed awareness oMe alignment
e
2 Did the vehicle leave its lane colliding with an object because - Are there any elements that contribute to a driver’s inability to
S 4 the driver tried to confirm safety, made a judgment, and took action, 8 control a vehicle? - 288 | 290-8 | 30-8 | 31-8
o but could not control the vehicle? @ Cannot stop
©
@
§ Did the coltision occur because the vehicle shifted Are there any elements that cause danger avoidance type
into the oncoming lane to avoid danger? [} accidents? !
5 D’J‘ tPedesmanelc. 15 — | 20-15 | 21-15 | 22-15 [ 23-15 | 24-15 | 25-15 | 27-15 | 28-15| 29-15 | 30-15 | 31-15 34-15 35-15 37-15 41-15 43-15
Did the head-on collision occur because a driver entered the curve at excessive speed without being able to check the alignment Are there any elements that make it difficult to understand the |
of the road ahead, straying into the oncoming lane without being able to confirm safety? alignment?
(e 12 -
\‘% Entering the curve at high speed 1
without confirming its alignment |
2 Did the head-on collision occur because a driver changed to the oncoming lane to pass a vehicle without being able to confirm Are there elements that make it difficult to confirm safety |
safety from oncoming vehicles? 10 | before moving into the oncoming lane to pass a vehicle? - {20-10
Did the head-on collision occur because a driver entered the oncoming lane when passing without being able to confirm safety?
=4
A% | > Are there any elements that encourage frequent passing in
= Ve il 1 the oncoming lane? - 43-11
3 Passing without confirming safety W_J
c
o
‘é, Did the head-on collision occur a driver shifted to the oncoming lane Are there any elements that encourage drivers to pass
@ 3 after judging that itis possible to pass safely? 17 dangerously when it is easy to misunderstand the behavior of -
I l oncoming vehicles?
Did the head-on collision occur because a driver lost control Ave there any elg)ments that contribute to driver inability to
4 | ofthe vehicle, siraying into the oncoming lane? g | control avehicle? - 28-8| 29-8 | 30-8 | 31-8
Cannot stop W
e e W — Gy e var e s G v
5 15 — | 20-15 | 21-15 | 22-15 | 23-15 | 24-15 | 25-15 | 27-15 | 28-15}| 29-15 | 30-15 } 31-15 34-15 35-15 37-15 41-15 43-15
Avoiding danger % C Avoiding danger @
Did the right turn collision occur because a driver attempted to confirm Are there any elements that block visibility?
€ 2 safety, but turned right without succeeding in confirming safety? - * 1 - 271 35-1
E _ Cannot soe the vehicle
E’ Did the right turn collision occur because a driver tried to confirm safety, decided that it was possible to turn right, and tried to turn Are there elements that encourage drivers to drive
o right? 4 dangerously or start up, and aggressively cut in. - 34-4 37-4
5 3
=3 - -
[=1 P Are there elements that encourage misunderstanding of the
‘::‘:3::9";: sate 7 | behavior of oncoming vehicles. -

* Accident process pattern No. 5 is an accident that occurs when a driver has made an emergency stop or lane change to avoid danger, and
itis difficult to hypothesize causes of this type of accident. So for this countermeasure (Cause code O-15), refer to other types of

accidents.
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Pattern (8) Uninterrupted flow section - city — 2 lanes or less — sidewalks : (1/2)

Road environments that cause accidents
Accident process : Road factors Traffic environment factors
Road alignment Intersection shape Lanes/width Accessories/structures
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
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7] = O | o Q Q 4 N2 102 Oclw2 [Oav| OF 09 | 0 Z |ES5o0l
Did the collision occur because the vehicle ahead unexpectedly D stoppi Are there elements that encourage drivers to make
stopped, decelerated, or changed lanes? and %2’..5’?#;3&1‘.’5“ "9 Lanechange frequent emergency stops, to decelerate, or to
L e O e 7425 g ", - 114 change lanes on the main road? - 8-14 (1 9-14 110-14| 11-14 18-14
[ O~ EED S
[ = . .
o Did the collision occur because of delayed awareness Are there any elements that block visibility?
2 2 | of the vehicle ahead? m ‘.- = |1 -1 11 16-1
"'o) Noticed too late
o Did the collision occur the driver tried to confirm safety, Are there any elements that contribute to driver
5 4 | made a judgment, and took action, but could not control the vehicle? e *- - | 8 [ inability to control a vehicle? -
& Cannot stop
[«
o Did the collision occur because a driver abruptly stopped Check for elements that cause accidents by drivers
or changed lanes to avoid danger? Dangerous vehicie avoiding other danger.
5 - |15 - [ 115 | 2145 | 3-15 | 415 | 515 815 | 9-15 [ 10-15 | 11-15 13-15 | 14-15 16-15 18-15 | 19-15
Avoiding danger D
Did the vehicle hit the pedestrian crossing the road at a place Dangerous crossi Are there elements that encourage pedestrians to
1 where the driver did not know that pedestrians cross the road? g "9 - | 43 | cross roads dangerously. -
E’ Did the vehicle hit the pedestrian because the driver tried to confirm safety, Are there any elements that block visibility?
a but proceeded without being able to see the pedestrian? '
<] 2 Can neither see — 1 -1 11 3-1 ’ 13-1 19-1
(: nor be seen
2
o Did the vehicle hit the pedestrian because the driver tried to confirm safety, Are there any elements that contribute to driver
made a judgment, and took action, but could not control the vehicle? inability to control a vehicle?
4 Cannot stop k - 8 -
Did the right turn collision occur because a driver attempted Are there any elements that block visibility?
2 to confirm safety, but turned right without succeeding - g O N 3.1 19-1
£ in confirming safety? CFBIE] cannot sea the venicte
“E,, Did the right turn collision occur because a driver tried Are there elements that encourage drivers to drive
S to contirm safety, decided that it was possible to turn right, ’ = | 4 | dangerously or start up, and aggressively cutin. -
2 and tried to turn right? - 'y
5| 3 o] Judging tis safe Are there elements that encourage
o o g — | 7 | misunderstanding of the behavior of oncoming o 0.7 47
vehicles.
Did the vehicle leave its lane colliding with an object, because it entered a curve or narrow road section at Are there any elements that make it difficult to
excessive speed without being able to confirm the alignment of the road ahead? understand the alignment? ‘
2 - |12 =112 3-12 . 9-12 | 10-12 13-12 | 14-12 18-12
e Did the vehicle leave its lane colliding with an object because the driver tried to confirm safety, made a Are there any elements that contribute to a driver’s
2 judgment, and took action, but could not control the vehicle? inability to control a vehicle? »
g | 4 - |8 - 5-8
E @ Cannot stop
3 Did the collision occur because the vehicle shifted into the oncoming lane to avoid danger? : Are there any elements that cause danger
avoidance type accidents?
h
5 - - 115 -] 115 [ 215 | 3-15 | 415 | 5-15 8-15 | 9-15 | 10-15 | 11-15 13-15 | 14-15 16-15 18-15 | 19-15
angero vehide DJkt Pedastrian etc. i
Did this collision occur because the driver turned left without predicting a vehicle ahead? Are there elements that encourage abrupt left turns
R on the main road?
£ 1 - | 18 - ‘ 18-18
2
£
g Are there elements that district drivers, making then
£ inattentive?
a2 - | 2 -
* Accident process pattern No. 5 is an accident that occurs when a driver has made an emergency stop or lane change to avoid danger, and * Although causes of accidents are recorded for road environments that cause accidents, there are cases
it is difficult to hypothesize causes of this type of accident. So for this countermeasure (Cause code O—15), refer to other types of where the columns below them are all empty columns. This has been done so that the contents can be
accidents. expanded by accumulating future data and obtaining the views of users of this manual.
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Pattern (8) Uninterrupted flow section — city — 2 lanes or less — sidewalks , (2/2)

Road environments that cause accidents
Accident process Traffic environment factors
Roadside environment Road surface conditions Congestion/stopping Others
20 21 22 23 24 25 27 28 29 30 31 34 35 37 40 41 42 43
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Did the collision occur because the vehicle ahead ” Dangerous stopping  Lane change Are there elements that encourage drivers to make
1 unexpectedly stopped, decelerated, or changed lanes? and decelerating - | 14 frequent emergency stops, to dgcelerate, orto N 2214 [ 23-14 | 24-14 | 25-14 34-14 35-14 43-14
change lanes on the main road?
[ O~
c " .
o Did the collision occur because of delayed awareness % Are there any elements that block visibility? |
@ | 2 | ofthe vehicle ahead? iD= > K - | 201 27-1
T‘i Noticed too late '
° Did the collision occur the driver tried to confirm safety, Are there any elements that contribute to driver
[ 4 made a judgment, and took action, but could not contro! the vehicle? m Q<- ~ | 8 { inability to control a vehicle? - ) 28-8 | 29-8 | 30-8 | 31-8
8 Cannot stop
b Did the collision occur because a driver abruptly stopped Check for elements that cause accidents by drivers
or changed lanes to avoid danger? . Dangerous vehide avoiding other danger.
5 m -+ |15 — | 20-15 | 21-15 | 22-15 | 23-15 | 24-15 | 25-15 | 27-15 | 28-15 | 29-15 | 30-15 | 31-15| 34-15 35-15 | 37-15 41-15 | 42-15 | 43-15
Avoiding dmga\oD
Did the vehicle hit the pedestrian crossing the road at a place Dangerous crossing Are there elements that encourage pedestrians to :
- A : ”
1 where the driver did not know that pedestrians cross the road? - | 13 | cross roads dangerously. . : 35.13 41-13 43-13
f:_” Did the vehicle hit the pedestrian because the driver tried to confirm safety, * Are there any elements that block visibility?
a but proceeded without being able to see the pedestrian? :
< 2 Can neither see - |1 = | 201 | 211 271 35-1 43-1
S : nor be seen
2 1
o Did the vehicle hit the pedestrian because the driver tried to confirm safety, Are there any elements that contribute to driver
made a judgment, and took action, but could not control the vehicle? inability to control a vehicle? ’
4 Cannot stop * = | 8 - \ 28-8 | 29-8 | 30-8 | 31-8
Did the right turn collision occur because a driver Are there any elements that block visibility?
5 | attemptedto confirm safety, but turned right - ol - N 57.1 35-1
g without succeeding in confirming safety? w Cannot sse the vehicle i
-’g‘, Did the right turn collision occur because a driver Are there elements that encourage drivers to drive
= tried to confirm safety, decided that it was possible - | 4 | dangerously or start up, and aggressively cut in. - 34-4 37-4
24 to turn right, and tried to turn right? - 3
53 Gt g judding tis sate Are there elements that encourage
o O misunderstanding of the behavior of oncoming o
vehicles. !
i
Did the vehicle leave its lane colliding with an object, because it entered a curve or narrow road section at Are there any elements that make it difficult to !
excessive speed without being able to confirm the alignment of the road ahead? understand the alignment? !
i
2 » - |12 -
@ Detayed awareness of We alignment
[
2 Did the vehicle leave its lane colliding with an object because the driver tried to confirm safety, made a Are there any elements that contribute to a driver's
g judgment, and took action, but could not control the vehicle? . inability to control a vehicle? ‘
[ 4 -] 8 ind . 28-8 | 29-8 | 308 | 31-8
E @ Cannot stop i
3 Did the collision occur because the vehicle shifted into the oncoming lane to avoid danger? Are there any elements that cause danger ‘
avoidance type accidents?
5 - 115 - 120-15{21-15 | 22-15 | 23-15 | 24-15 | 25-15 ‘,7-15 28-15|29-15 30-15 | 31-15| 34-15 35-15 | 37-15 41-15 | 42-15 | 43-15
|
[
Are there elements that encourage abrupt left turns i
) on the main road? f
£ 1 - |18 - 25-18
2
k3
g, Are there elements that district drivers, making then
£ inattentive? )
ale - |2 - 42-2
* Accident process pattern No. 5 is an accident that occurs when a driver has made an emergency stop or lane change to avoid danger, and
it is difficult to hypothesize causes of this type of accident. So for this countermeasure (Cause code O-15), refer to other types of

accidents. \

|
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Pattern (9) Uninterrupted flow section — city — multiple lanes — no center median 1/2)
Road environments that cause accidents
Accident process Road factors Traffic environment factors
Road alignment Intersection shape Lanes/width Accessories/structures
1 2 3 4 5 6 7 8 9 10 1 12 13 14 15 16 17 18 19
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Did the collision occur because the vehicle ahead unexpectedly Are there elements that encourage drivers to make |
stopped, decelerated, or changed lanes? Dangerous stopping  Lane change frequent emergency stops, to decelerate, or to
1 and decelerating : AT - | 14 | change lanes on the main road? - 8-14 | 9-14 | 10-14| 11-14 18-14
[ O~RED
5 Did the collision occur because of delayed awareness Are there any elements that block visibility?
B o | ofthe vehicle ahead? Bt N - N
% Noticed too late
(3]
©
S Did the collision occur the driver tried to confirm safety, . e Are there any elements that contribute to driver
o ’
= 4 | Made ajudgment, and took action, but could not control the vehicle? N inability to contro! a vehicle? i N
[) Cannot stop
o
Did the collision occur because a driver abruptly stopped Dangerous vehide Check for elements that cause accidents by drivers
or changed lanes to avoid danger? m Q avoiding other danger.
5 = | 15 -] 115 | 2-15 | 3-15 | 4-15 : 8-15 [ 9-15 [ 10-15]| 11-15 16-15 18-15  19-15
Avoiding danger » D
Did the right turn collision occur because a driver Are there any elements that block visibility?
2 attempted to conﬁ;m safety,fbttnwturned right without - . 3 N 9 = 14 31 19-1
c succeeding in confirming safety? ) ‘ . )
5 <G +.7 1} Cannot see the venicle
-'g Did the right turn collision occur because a driver Are there elements that encourage drivers to drive
= tried to confirm safety, decided that it was possible — | 4 | dangerously or start up, and aggressively cut in. ind
2 to turn right, and tried to turn right? [ > ]
5 3 m i’: ‘.’33,’,‘%3.1? safe Are there elements that encourage
a - | 7 | misunderstanding of the behavior of oncoming N 2.7 47
vehicles.
Did the intersection collision occur because a driver attempted Are there any elements that block visibility? |
to confirm safety, but entered the intersection without being able to do so? :
2 Cannot see the vehicle e 1 - 1-1 3-1 8 16-1 19-1
s Cannot see
@ the vehicle ‘
S Did the intersection collision occur because a driver tried :’:‘ Are there elements that encourage drivers to drive
5 to confirm safety and decided it was safe to proceed? dangerously or start up, and aggressively cut in.
=2 - 4 - 4
° 3 Cannot stop 6
(7]
7] f
Q
£ Did the rear-end collision occur because a driver checked for safety, Are there any elements that contribute to driver
made a judgment and took action, but avoided the other car too late? V inability to control a vehicle?
4 Cannot stop i 8 -
* Accident process pattern No. 5 is an accident that occurs when a driver has made an emergency stop or lane change to avoid danger, and * Although causes of accidents are recorded for road environments that cause accidents, there are cases
it is difficult to hypothesize causes of this type of accident. So for this countermeasure (Cause code ©O-15), refer to other types ot where the columns below them are ail empty columns. This has been done so that the contents can be
accidents. expanded by accumulating future data and obtaining the views of users of this manual.
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(2/2)

Pattern (9) Uninterrupted flow section — city — multiple lanes — no center median

Accident process

Road environments that cause accidents

Traffic environment factors

Roadside environment Road surface conditions Congestion/stopping Others
20 21 22 23 24 25 27 28 29 30 31 34 35 37 40 41 42 43
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Did the collision occur because the vehicle ahead . Are there elements that encourage drivers to make !
unexpectedly stopped, decelerated, or changed lanes? s aopping  Lane chang frequent emergency stops, to decelerate, or to !
1 : 14 | change lanes on the main road? 22-14 | 23-14 | 24-14 | 25-14 34-14 35-14 43-14
>
5 Did the collision occur because of delayed awareness Are there any elements that block visibility?
@ | 2 | ofthevehicle ahead? P ™ o D 1 20-1 27-1
§ Noticed too late
g Did the collision occur the driver tried to confirm safety, ] Are there any elements that contribute to driver
£ | 4 | madeajudgment, and took action, but could not control the vehicle? g | inability to control a vehicle? 28.8 | 20.8 | 308 | 31-8
@ : A
o Cannot stop
Did the collision occur because a driver abruptly stopped i Check for elements that cause accidents by drivers
- ptly Dangerous vehicle v
or changed lanes to avoid danger? avoiding other danger. !
DN :
5 15 20-15 22-15 | 23-15 | 24-15 | 25-15 | 27-15 | 28-15 | 29-15 | 30-15 | 31-15| 34-15 35-15 | 37-15 43-15
Avoiding danger D
Did the right turn collision occur because a driver Are there any elements that block visibility?
2 attempted to confirm safety, but turned right - 3 3 1 271 35-1
c without succeeding in confirming safety? m Cannot 506 the vehiclo
=3
'-g', Did the right turn collision occur because a driver Are there elements that encourage drivers to drive
= tried to confirm safety, decided that it was possible 4 | dangerously or start up, and aggressively cut in. 34-4 37-4
o to turn right, and tried to turn right?
513 Judging it is safe Are there elements that encourage
o fo turn right 7 misunderstanding of the behavior of oncoming
vehicles.
Did the intersection collision occur because a driver Are there any elements that block visibility?
attempted to confirm safety, but entered the intersection
2 without being able to do so? 1 20-1 27-1 43-1
S Cannot see
B the vehicle
E Did the intersection collision occur because a driver Are there elements that encourage drivers to drive
5 tried to confirm safety and decided it was safe to proceed? dangerously or start up, and aggressively cut in.
& 3 4 37-4
(]
2
(5}
E Did the rear-end collision occur because a driver checked for safety, Are there any elements that contribute to driver ‘
made a judgment and took action, but avoided the other car too late? inability to control a vehicle? |
4 Cannot stop 8 2‘88 29-8 | 30-8 | 31-8
* Accident process pattern No. 5 is an accident that occurs when a driver has made an emergency stop or lane change to avoid danger, and*
it is difficult to hypothesize causes of this type of accident. So for this countermeasure (Cause code O-15), refer to other types of
accidents.

+

!
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Pattern (10) Uninterrupted flow section — city — multiple lanes — center median (1/2)
Road environments that cause accidents
Accident process Road factors Traffic environment factors
) - Road alignment Intersection shape Lanes/width Accessories/structures
1 2 3 4 5 6 7 |8 9 10 11 12 13 14 15 16 17 18 19
Q (] [ £
- [~ . o =
[+] =] k] u S o " 3
2 = |% |==|5 [ |8 |§ |8, @
£ & s oc | § Eg I} -] sx i=3-} 4
- £ a oy @ 38| 8 at 7] o o e %G 5
S| % £ 2 g |2 |Ec|%e |86 | € |8 [B3| § |eS | 2
52 5 3 g |5 [E5|5(85 |3 |&.|58| 35 |58 |3
Q o — c - — Q —
& 2 k] 2 < (-39 £< @ c = [ EG E
B § State of occurrence of accidents Check points of the road environment that causes accidents g, ?g’t ‘% qc, 2 26 o0 %5 S % % -% g E 2 § g
5 g = c o ] < = 8t | =6 |co £ gL ES 8 |&=
g | & z g e | g £ |5 |25|2e8 |55 |3E | vE|ws| € |B2 | §
P [ = 2 1] © g lc™ oe (< [~ @ o c
2| € H o ES € o o °F | 5€ |eg 85| 88| s8¢ S |8 °
S S 2 - ‘@ Co | Sa | 27| 02 [(EL0] E€ | ©& o 5 [2>E S
L o | O £ | E % 2 8 |58 | S8 | 5| 84 [BcB| 8E (28| 8% | 8 |=g
g e | g 2| 8| < e ||& | 85|55 |22 |28 |85% | 2e | 8o |Ba| = [BES | 2
< 3 @ g P 3 « S |2 | xZ | 2% | £ |222]| 8 | 8§ | 88 £ |ge_| @
3 2 4 o cs | o5 | EQ | o= £ —3 | 2= | 25 o [6Q/%F
a 17 17 1 5 2 z 52 | 3° | 88| 55 |[EvE| T [ > | =0 L [ma| o
5 o a o o c 3 o h=-FS s | E2 ] 22 |23 88 | €6 | €2 2 |asa| &
] € H € > = = e °E € B & G £ [ =T S . oc o) az2e S
c K1 2 S [} <1 o ] 52 g8 | 8 | o= |SgE| Ba oL &0 @ |§2F5| =
%) | o ] o (8] O 4 w2 |O2 106 |nE [Doo] OC | 0% | og Z |E50] o
Did the collision occur because the vehicle ahead Dangerous slopping  Lane change Are there elements that encourage drivers to make
unexpectedly stopped, decelerated, or changed lanes? and decelerating frequent emergency stops, to decelerate, or to
1 - EED — | 14 | change lanes on the main road? I 8-14 | 9-14 | 10-14 | 11-14 17-14 | 18-14
c Did the collision occur because of delayed awareness TEIE Are there any elements that block visibility?
i ? Catd 525 :
é o | ofthe vehicle ahead? Beveroaf O N 151 | 16-1
°
Q
e Did the collision occur the driver tried to confirm safety, Are there any elements that contribute to driver
] 4 | made ajudgment, and took action, but could not control the vehicle? - | g | inability to control a vehicle? o
g
Did the collision occur because a driver abruptly stopped _ Check for elements that cause accidents by drivers
or changed lanes to avoid danger? QDWW‘S vehicie avoiding other danger.
5 , -~ |15 - 1115 | 2115 | 3-15 | 4-15 8-15 | 9-15 | 10-15 | 11-15 15-15} 16-15 [ 17-15 | 18-15 | 19-15
Avoiding danger D
Did the right turn collision occur because a driver Are there any elements that block visibility?
attempted to confirm safety, but turned right -
c 2 without succeeding in confirming safety? A - |1 -1 11 3-1 15-1 19-1
::§ m Cannot see the vehicle
f_» Did the right turn collision occur because a driver Are there elements that encourage drivers to drive
o tried to confirm safety, decided that it was possible - | 4 [ dangerously or start up, and aggressively cut in. i
£ to turn right, and tried to turn right? - [ )
als () fuddingtis sate Are there elements that encourage
- | 7 | misunderstanding of the behavior of oncoming o 2.7 47
vehicles.
Did the collision occur because a driver changed lanes without time to confirm safety? Are there elements that encourage drivers to make
o frequent emergency stops, to decelerate, or to
4 i 2
3 - | 14 | change lanes on the main road? S5 18-14
(3]
o
£
2| ; i
@ Check for elements that cause accidents by drivers
S - avoiding other danger.
g e vehicle Pedestianete. | - | 15 -] 115 ] 215 | 315 | 415 815 | 9-15 | 10-15| 11-15 15-15 | 16-15 | 17-15 | 18-15 { 19-15
§ Avoiding danger ‘_Cr\voiding danger @ ]
Did the intersection collision occur because a driver : Are there any elements that block visibitity? i
attempted to confirm safety, but entered the intersection .
without being able to do so? E%”
2 Cannot see the vehicle ‘ R -] 1 31 15-1 | 161 19-1
% Cannot see
g the vehicle
K]
S Did the intersection collision occur because a driver Are there elements that encourage drivers to drive
g tried to confirm safety and decided it was safe to proceed? dangerously or start up, and aggressively cut in.
2 3 - 4 -
8 Cannot stop
4
2
£ Did the rear-end collision occur because a driver Arebtlhere any elements;I tt}a}) contribute to driver
checked for safety, made a judgment and took action, m inability to control a vehicle?
4 but avoided the other car too late? V G P N
Cannot stop
* Accident process pattern No. 5 is an accident that occurs when a driver has made an emergency stop or lane change to avoid danger, and * Although causes of accidents are recorded for road environments that cause accidents, there are cases
it is difficult to hypothesize causes of this type of accident. So for this countermeasure (Cause code O-15), refer to other types of where the columns below them are all empty columns. This has been done so that the contents can be
accidents. expanded by accumulating future data and obtaining the views of users of this manual.
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Pattern (10) Uninterrupted flow section - city — multiple lanes — center median (2/2)

Road environments that cause accidents
Accident process Traffic environment factors
Roadside environment Road surface conditions Congestion/stopping Others
20 21 22 23 24 25 27 28 29 30 31 34 35 37 40 41 42 43
o ] *
@ > !
. @ 8 o @
2 3l ;. o |2 | | 55 2o | £ |28 | §
e 3 |28 2 7 |8 |@ 5E Ss|s |5 |3
|2 e > 8z | S |3 £2 v 18318 |2 |3
2| g 2l | 8|8 |g|c8|l5 |8 g e | g5/8 |9 |z3
Q 7] c [ 2 I °5 = o € = =10 ; o SF
& £ £ 2 =19 £ e 2
& § State of occurrence of accidents Check points of the road environment that causes accidents g,\ 95’ o © b £ z § 28 B2 .ES o g %E w® £ o9
° . > k3] h=] o 3 ] ow = @
s |5 g8 |2 | 2|8 | B |85|2e]2 2| o | ok 8 | g |88|8 |§ |&¢
g & S . 3 b ] 5 o< e b <] £ £ = - 2z = & 20
= 5 o2} 2 B e g 5| 8 | © o B 50 £ c 82 | © b EE€
o] “® | £ Pt 7] g.= = @ 3 o [<] -] £E0 | & z X
b 2 | © § (28| 8 |2gl32e| e = £ 3 o E o | & |3 &85
8 S5 | 5 £ 18| & (82|85 |29 £ | - | & | &5 2 | E|8|28(8 |2e
< Bo|(s2| 8 o8 3 f| 20| 8% ‘@ K] 5 oo 2 s ®E 23 |3 BE
2E | oF 2 2 2 €| £€c| e8| © B o oc 8 > ag [ 83 | & 9%
<0 = S0 s L0 ;5":: [ ! o © oa o >c = s ) %=
25135 3 || 8 |25 |25 (22| B | 8| 5 |58% | 5 |5 |83 |o0|235| 2%
oL [ [y Ig x D | SE|lOG [iy o o >a8 Q x =8 i1iZg | =5 | OO0
Did the collision occur because the vehicle ahead Dangerous stopoi Lane Are there elements that encourage drivers to make
unexpectedly stopped, decelerated, or changed lanes? st %"m..,,..,.,,;'g " frequent emergency stops, to decelerate, or to
1 . ) I change lanes on the main road? ind - - - - - - .
> AT R = 14 g d 22-14 | 23-14 | 24-14 | 25-14 34-14 35-14 43-14
Did the collision occur because of delayed awareness Are there any elements that block visibility?
of the vehicle ahead?
c 2 o
Ig 2 Noticed toc late R - | 201 27-1
3
e Did the collision occur the driver tried to confirm safety, Are there any elements that contribute to driver
LY made a judgment, and took action, but could not control the vehicle? m " inability to control a vehicle?
5 | 4 : > -8 - 28-8 | 298 | 30-8 | 31-8
Q Cannot stop .
o
Did the collision occur because a driver abruptly stopped Check for elements that cause accidents by drivers
or changed lanes to avoid danger? Dangerous vehidle avoiding other danger.
5 \ = |15 - |20-15 22-15|23-15 [ 24-15 | 25-15 | 27-15 | 28-15 | 2915 | 30-15 | 31-15| 34-15 35-15 | 37-15 43-15
Avoiding danger | >
Did the right turn collision occur because a driver Are there any elements that block visibility?
attempted to confirm safety, but turned right - o
c 2 | without succeeding in confirming safety? . =11 - 271 35-1
:3: m Cannot see the vehicle
f_m Did the right turn collision occur because a driver Are there elements that encourage drivers to drive
= tried to confirm safety, decided that it was possible — | 4 | dangerously or start up, and aggressively cut in. - 34-4 37-4
£ to turn right, and tried to turn right? - 5§ _
a | 3 Grien | judging s ofo Are there elements that encourage
~ | 7 | misunderstanding of the behavior of oncoming .
vehicles.
Did the collision occur because a driver changed lanes without time to confirm safety? Are there elements that encourage drivers to make
o frequent emergency stops, to ds,celerate, orto
3 I ) > - | 14 | change lanes on the main road? - 2514
g’ Passing without oonf irming safety I
c
B | s -
] Did the vehicle hit the pedestrian, because it left its lane to avoid danger? Check for elements that cause accidents by drivers
5 : avoiding other danger.
8 i R g Podestran st - |15 - [20-15 22-15 | 2315 | 24-15 | 25-15 | 27-15 | 28-15 | 2015 | 30-15 | 31-15 | 34-15 3515 | 37-15 43-15
; Avadmg danger ‘_C]Avmdmg danger A @ ‘
Did the intersection collision occur because a driver Are there any elements that block visibility?
attempted to confirm safety, but entered the intersection
without being able to do so?
2 -1 - | 20-1 27-1 43-1
c Cannot see
o the vehide
]
]
b Did the intersection collision occur because a driver i Are there elements that encourage drivers to drive
o tried to confirm safety and decided it was safe to proceed? 3 e dangerously or start up, and aggressively cutin.
s 3 = - | 4 - 37-4
g Cannot stop :
2 : i
£ Did the rear-end collision occur because a driver i Are there any elements that contribute to driver
checked for safety, made a judgment and took action, V inability to control a vehicle?
4 but avoided the other car too late? Gannot stop - 18 ind 28-8 | 2d ‘-8 30-8 | 31-8
I
* Accident process pattern No. 5 is an accident that occurs when a driver has made an emergency stop or lane change to avoid danger, and ‘
it is difficult to hypothesize causes of this type of accident. So for this countermeasure (Cause code O—15), refer to other types of
accidents. .
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Pattern (11) Uninterrupted flow section — city — 2-lanes or less — no sidewalks

(1/2)

Road environments that cause accidents
Accident process Road factors Traffic environment factors
Road alignment Intersection shape Lanes/width Accessories/structures
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
[ [ = 5
. € - (hﬂ (<3 - §
2 | = |B |co|s |62 |2 |8 |8 a
g 0 s |5 [S5|85 |58 |3 |E |£8 g2 | 8
- f - |73 =
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o = : c = 8 1o © T @ =4
31 ] © 3 c ce | E= c Ec | & ® £ E
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2 - Lo | Sa | 7 2 820 SE [ 85 | T8 5 [>T
3 @ ° £ c 3 2 e R R4 Cwm $a Go|l 8| 28 @@ 3 ® O ©
g e | & 28| 3 2 | 5§ |85 |55 |2e|22|852| 3 |8e| 8| = (Ba| &
g § 9 8 S 3 & 8 |02 x3 | Py | Eo (2622 58 | 82 | 82 | E (88w &
B B @ 5 2 2 | 55 (25 59| 25 |Ev=| g2 | >c | =8| & (282 o
a o % o ] g ° e | & c2 ° 23| 60 | £6 | £2 2 |atsa| &
] g 2 2 S £ 2 £ BE | EE | 85 | 22 |£¥x8| &% g & s |laze| 8
= ] 4 o ) Q rel < 52 o2 | 8 | 0= |[aQE| aa® 89 85 @ a@25 =
53 3 (&) 3 o &1 o zZ oz |02 106 |ws [68s|oc (a5 |G| 2 |€58] &
Did the collision occur because the vehicle ahead gnagm:rz‘?ggng Lane change Are there elements that encourage drivers to make
unexpectedly stopped, decelerated, or changed lanes? frequent emergency stops, to decelerate, or to
! | = =D 14| change lanes on the main road? 8-14 | 9-14 {1014 1114 18-14
c " .
o Did the collision occur because of delayed awareness cing s Are there any elements that block visibility?
£ | 2 | ofthe vehicle ahead? 1 1-1
'g Noticed too late
T | Did the collision occur the driver tried to confirm safety, ‘% *‘- Are there any elements that contribute to driver
@ 4 | made ajudgment, and took action, but could not control the vehicle? o op 8 | inability to control a vehicle?
®
b4 Did the collision occur because a driver abruptly stopped Dangerous vehicie Check for elements that cause accidents by drivers
or changed lanes to avoid danger? g avoiding other danger.
5 Ll \ 15 1-15 | 2-15 | 3-15 | 415 | 5-15 8-15 [ 9-15 [ 10-15 [ 11-15 | 12-15 [ 13-15 | 14-15 18-15119-15
Avoiding danger D
Did the vehicle leave its lane colliding with an object, because » Are there any elements that make it difficult to
it entered a curve or narrow road section at excessive speed understand the alignment?
2 | without being able to confirm the alignment of the road ahead? @ Delayed awareness olWe alignment 12 1-12 312 912 | 1012 1312 {1412 18-12
[+
£ Did the vehicle leave its lane colliding with an object because . Are there any elements that contribute to a driver’s
g 4 the driver tried to confirm safety, made a judgment, and took action, 8 inability to control a vehicle? 5.8
@ B but could not contro! the vehicle? @ Cannot stop -
hel
(]
_§ Did the collision occur because the vehicle shifted 4 Are there any elements that cause danger
into the oncoming lane to avoid danger? ™ avoidance type accidents?
5 - 15 1-16 | 2-15 | 3-15 | 415 | 5-15 8-15 [ 9-15 | 10-15 [ 11-15 | 12-15 | 13-15 | 14-15 18-15 | 19-15
‘Qnangero vehide DJ'* 1 Padestrian etc.
Did the head-on collision occur because a driver entered the curve at excessive speed without being able to Are there any elements that make it difficult to
check the alignment of the road ahead, straying into the oncoming lane without being able to confirm safety? understand the alignment? )
-, P~ \ 12 1-12 3-12 13-12 | 14-12 18-12
% Entering the curve at high speed
without confirming its alignment
Did the head-on collision occur because a driver changed to the oncoming lane to pass a vehicle without being Are there elements that make it difficult to confirm
2 able to confirm safety from oncoming vehicles? safety before moving into the oncoming lane to pass
Did the head-on collision occur because a driver entered the oncoming lane when passing without being able to 10 | avehicle? 1-10 3-10
confirm safety?
.§ ,,,,,,,,,, LD | > Are there any elements that encourage frequent
2 Passing without confirming safety \m‘_<_l 41 | passingin the oncoming lane? 12-11
(3]
g ]
9 Did the head-on collision occur a driver shifted to the oncoming lane RS Are tr:jere any el:eme'?ts tftlat encm:rage dri\(/’ers to 4 ‘
after judging that it is possible to pass safely? | > pass dangerously when it is easy to misunderstan ‘
T e il 17 | the behavior of oncoming vehicles? 247 417
Judging that it is possible to pass I 1
Did the head-on collision occur because a driver lost control Are there any elements that contribute to driver i
4 | ofthe vehicle, straying into the oncoming lane? RS g | inability to control a vehicle? 5.8 i
)
Did the head-on collision occur because a driver Check for elements that cause accidents by drivers
shifted into the oncoming lane to avoid danger? m avoiding other danger. 1
5 15 1-15 | 2.15 | 3-15 | 415 | 5-15 8-15 | 9-15 | 10-15| 11-15 [ 12-15 | 13-15 ] 14-15 18-15}19-15
Avoiding danger
Did the vehicle hit the pedestrian crossing the road at a place Are there elements that encourage pedestrians to |
1 where the driver did not know that pedestrians cross the road? Dangerous crossing k-g 13 | cross roads dangerously. &
3
2 Did the vehicle hit the pedestrian because the driver Are there any elements that block visibility?
2 tried to confirm safety, but yroceeded without being
14 2 | able to see the pedestrian? Can neither see 1 1-1 3-1 13-1 19-1
o ’ nor be seen !
£ k
& Did the vehicle hit the pedestrian because the driver e Are there any elements that contribute to driver \
tried to confirm safety, made a judgment, and took action, Lﬁ% *‘ inability to control a vehicie?
4 but could not control the vehicle? Cannot stop k 8

* Accident process pattern No. 5 is an accident that occurs when a driver has made an emergency stop or lane change to avoid danger, and
it is difficult to hypothesize causes of this type of accident. So for this countermeasure (Cause code O-15), refer to other types of

accidents.

|
* Although causes of accidents are recorded for road environments that:cause accidents, there are cases -
where the columns below them are all empty columns, This has been}‘done so that the contents can be
expanded by accumutating future data and obtaining the views of users of this manual.
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Pattern (11) Uninterrupted flow section - city — 2-lanes or less — no sidewalks (2/2)

Road environments that cause accidents
Accident process Traffic environment factors
] Roadside environment Road surface conditions Congestion/stopping Others
20 21 22 23 24 25 27 .| 28 29 30 31 34 35 37 40 41 42 43
[
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[+1] >
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; ° B 2 o e® ]
g | & 28 |3 8|3 8 | 85| 3a|| @ o | o | o5 g e |52|8 (£ |&E
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235 28 3] s © PR o a @ £2% € © c3 o =E (T
83|88| & |$5| ¢ |55|%8|88| & |8 |2 | 888 | 8§ | ¢ |88 |se|%F| &3
Did the col(ljilsion occ:(; l;ecause the vehicle ahedad ” Dangerous stopping  Lane change Are there elements that encourage drivers to make
unexpectedly stopped, decelerated, or changed lanes? and decelerating D frequent emergency stops, to decelerate, or to
! [ O~ = | 1 | change lanes on the main road? - - 22-14 12314 | 24-14 | 2514 34-14 35-14 43-14
[= " )
o Did the collision occur because of delayed awareness e Are there any elements that block visibility?
2 | 2 | ofthe vehicle ahead? FriD—3y > R - | 201 27-1
8 Noticed too late
° Did the collision occur the driver tried to confirm safety, Are there any elements that contribute to driver i
@ 4 made a judgment, and took action, but could not control the vehicle? —n mOp — | 8 | inability to contro! a vehicle? d '| 28-8 | 29-8 | 30-8 | 31-8
5 .
Q
[vd Did the collision occur because a driver abruptly stopped Dangerous vehicle Check for elements that cause accidents by drivers
or changed lanes to avoid danger? ‘ avoiding other danger.
5 Avddingmgexo - |15 - | 20-15 | 21-15 | 22-15 | 23-15 | 24-15 | 25-15 | 27-15'| 28-15 | 29-15 | 30-15 | 31-15| 34-15 35-15 41-15 43-15
Did the vehicle leave its lane colliding with an object, because » Are there any elements that make it difficult to
2 it entered a curve or narrow road section at excessive speed . > |12 understand the alignment? N !
without being able to confirm the alignment of the road ahead? @ Delayed awareness olNge alignment :
[} 3
£ Did the vehiclg leave its lane colliding with an object because » Are there any elements tha}) contribute to a driver’s i
] the driver tried to confirm safety, made a judgment, and took action, 5 inability to control a vehicle?
§ 4 | but could not contro! the vehicle? @ Cannot stop - |8 - 28-8 | 298 | 30-8 | 318
o
§ Did the collision occur because the vehicle shifted Are there any elements that cause danger
into the oncoming lane to avoid danger? fo) avoidance type accidents?
5 < vehidie D_’(*t Pedestianec. | — | 18 - | 20-15 | 21-15 | 22-15 | 23-15 | 24-15 | 25-15 | 27-15;1 28-15 | 29-15 | 30-15 | 31-15| 34-15 35-15 41-15 43-15
Did the head-on collision occur because a driver entered the curve at excessive speed without being able to Are there any elements that make it difficult to
check the alignment of the road ahead, straying into the oncoming lane without being able to confirm safety? understand the alignment?
(=t e - |12 - i
Pmss R . . :
\ Entering the curve at high speed
%" without confirming its alignment 1
i
Did the head-on collision occur because a driver changed to the oncoming lane to pass a vehicle without being Are there elements that make it difficult to confirm : |
2 able to confirm safety from oncoming vehicles? safety before moving into the oncoming lane to pass .
Did the head-on collision occur because a driver entered the oncoming lane when passing without being ableto | — | 10 | avehicle? = (2010
confirm safety? ;
é .......... | D, Are there any elements that encourage frequent '
£ Passing without confirming safety ] — | 11 | passingin the oncoming lane? [N ‘ 43-11
o
g .
ko) Did the head-on collision occur a driver shifted to the oncoming lane Are there any elements that encourage drivers to
3 after judging that it is possible to pass safely? e i) | > N pass dangerously when it is easy to misunderstand N
T | 3 e 17 | the behavior of oncoming vehicles?
Judging that it is possible to pass ]
Did the head-on coflision occur because a driver lost contro} o Are there any elements that contribute to driver
. . . . 7 . age, n ,)
4 of the vehicle, straying into the oncoming lane? [ > I inability to control a vehicle? - . 28-8 | 29-8 | 30-8 | 31-8
Sl S
Did the head-on collision occur because a driver Check for elements that cause accidents by drivers
shifted into the oncoming lane to avoid danger? avoiding other danger.
5 Aveiding d - | 15 - | 20-15 | 21-15 | 22-15 | 23-15 | 24-15 | 25-15 | 27-15 | 28-15 | 29-15 | 30-15 | 31-15| 34-15 35-15 41-15 43-15
wvoiding danger
Did the vehicle hit the pedestrian crossing the road at a place Are there elements that encourage pedestrians to
1 | where the driver did not know that pedestrians cross the road? Dangerous crossing k '8 - | 13 | cross roads dangerously. - | 35-13 41-13 43-13
2 Did the vehicle hit the pedestrian because the driver Are there any elements that block visibility?
2 tried to confirm safety, but ;:roceeded without being 3 3
o 2 able to see the pedestrian? Can neither see =11 _ -1 201 | 21-1 27-1% 35-1 43-1
S nor be seen 3
2 , i
5 Did the vehicle hit the pedestrian because the driver Are there any elements that contribute to driver !
tried to confirm safety, made a judgment, and took action, mﬁ * inability to contro! a vehicle? i
4 | but could not control the vehicte? Cannot stop k —~ | 8 ind I 28-8 | 29-8 | 30-8 | 31-8

* Accident process pattern No. 5 is an accident that occurs when a driver has made an emergency stop or lane change to avoid danger, and
itis gifﬁcull to hypothesize causes of this type of accident. So for this countermeasure (Cause code O—15), refer to other types of
accidents.
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Pattern (12) Uninterrupted flow section — flat land — 2-lanes or less — sidewalks

(1/2)

Road environments that cause accidents
Accident process Road factors Traffic environment factors
Road alignment Intersection shape Lanes/width Accessories/structures
1 2 3 4 5 7 8 9 10 11 12 13 14 15 16 17 18 19
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Did the collision occur because the vehicle ahead Dangerous stopping  Lane change Are there elements that encourage drivers to make
unexpectedly stopped, decelerated, or changed lanes? and decelerating frequent emergency stops, to decelerate, or to . ) %
! P y slopp 9 D 5 | 14 | change lanes on the main road? 814 | 9-14 {10-14 | 1114 18-14
[=4 N o .
o Did the collision occur because of delayed awareness i Are there any elements that block visibility?
© | 2 | ofthe vehicle ahead? 1 11
g Noticed too late
2 Did the collision occur the driver tried to confirm safety, Are there any elements that contribute to driver
o 4 made a judgment, and took action, but could not control the vehicle? Camot stop 8 | inability to controf a vehicle?
[
[+}] T
o Did the collision occur because a driver abruptly stopped Dangerous vehidle Check for efements that cause accidents by drivers
or changed lanes to avoid danger? avoiding other danger.
5 Avoidingdger \ D 15 1-15 | 2-15 | 3-15 | 415 | 5-15 8-15 [ 915 { 10-15 | 11-15 | 12-15 | 13-15 [ 14-15 18-15 [ 19-15
Did the head-on collision occur because a driver entered the curve at excessive speed without being able to Are there any elements that make it difficult to
check the alignment of the road ahead, straying into the oncoming lane without being able to confirm safety? understand the alignment?
~ g 12 1-12 3-12 13-12 | 14-12 18-12
Entering th at hi
) Tttmons et
Did the head-on collision occur because a driver changed to the oncoming lane to pass a vehicle without being Are there elements that make it difficult to confirm
2 | able to confirm safety from oncoming vehicles? safety before moving into the oncoming lane to pass
Did the head-on collision occur because a driver entered the oncoming lane when passing without being able to 10 | avehicle? 1-10 3-10
confirm safety?
= e re—
.g B Are there any elements that encourage frequent
% Passing without corfiming safety \W_l 11 | passing in the oncoming lane? 12-11
5
'é Did the head-on collision occur a driver shifted to the oncoming lane , Are there any elements that encourage drivers to '
] 3 after judging that it is possible to pass safely? L_> 17 | pass dangerously when it is easy to misunderstand 2.17 417
T Judging that it is possible to pass \m‘_<_l the behavior of oncoming vehicles?
Did the head-on collision occur because a driver iost control Are there any elements that contribute to driver
4 of the vehicle, straying into the oncoming lane? 8 inability to control a vehicle? 5.8
’ Cannot stop \m‘_<_l
Did the head-on collision occur because a driver D: hicl . Check for elements that cause accidents by drivers
shifted into the oncoming lane to avoid danger? (| Jangerous vehicte LCE Pedastrian etc. avoiding other danger.
5 Avoiding danger @ Avoiding danger ._C] 15 115 | 2-15 | 3-15 | 4-15 | 5-15 8-15 | 915 [ 1015} 11-15 | 12-15 [ 13-15 | 14-15 18-15 | 19-15
Did the vehicle leave its lane colliding with an object, because " Ar% there :r;}'ll elelments thoat make it difficult to
it entered a curve or narrow road section at excessive speed understand the alignment? R _ . - N . -
2 | without being able to confirm the alignment of the road ahead? @ Delayed awarenass oMWe alignment 12 1-12 3-12 9-12 | 1012 13-12 | 14-12 18-12
[]
£ Did the vehicle teave its lane colliding with an object because ) Are there any elements that contribute to driver
g 4 the driver tried to confirm safety, made a judgment, and took action, 8 inability to control a vehicle? 58
3 but could not control the vehicle? é’ Cannot stop
[}
§ Did the collision occur because the vehicle shifted o Check for elements that cause accidents by drivers
into the oncoming lane to avoid danger? 3 15 avoiding other danger. 1-15 | 2415 | 3-15 5-15 | 815 | 9-15 | 10-15 | 11-15 | 1215 | 13-15 | 14 18-15 | 19-15
5 - - - - - - - - 11-15 - - -15 -15 -
,‘..--~~-~-~~"‘:Qng{gqero vehidie Mt Pedestrian stc.
Did the vehicle hit the pedestrian crossing the road at a place Are there elements that encourage pedestrians to
1 where the driver did not know that pedestrians cross the road? Dangerous crossing k~8 43 | cross roads dangerously. !‘
E’ Did the vehicle hit the pedestrian because the driver Are there any elements that btock visibility?
a tried to confirm safety, but groceeded without being m *
g 2 | able to see the pedestrian? Can neither 66 1 1-1: 31 13-1 191
- nor be seen
2
o Did the vehicle hit the pedestrian because the driver . Are there any elements that contribute to driver
tried to confirm safety, made a judgment, and took action, L D—,T inability to control a vehicle?
4 | but could not control the vehicle? Canno stop * 8

* Accident process pattern No. § is an accident that occurs when a driver has made an emergency stop or lane change to avoid danger, and
it is difficult to hypothesize causes of this type of accident. So for this countermeasure (Cause code O-15), refer to other types of

accidents.

* Although causes of accidents are recorded for road environments that cause accidents, there are cases
where the columns below them are all empty columns. This has been done so that the contents can be
expanded by accumulating future data and obtaining the views of users of this manual.
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Pattern (12) Uninterrupted flow section - flat land — 2-lanes or less — sidewalks (2/2)

Road environments that cause accidents
Accident process ' Traffic environment factors
Roadside environment Road surface conditions Congestion/stopping Others
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Did the colglswn occué t;ecat;se the(e1 vehlt::e ahedald ” Dangerous stopping  Lana change fl:re there elements that encourage drivers to make
unexpectedly stopped, decelerated, or changed lanes? and decelerating . equent emergency stops, to decelerate, or to
! [~ D=1 = | 14| change lanes on the main road? - 22-1423-14 1 24-14 | 25-14 34-14 35-14 4314
c . v
S Did the collision occur because of delayed awareness RO Are there any elements that block visibility?
@ | 2 | ofthe vehicle ahead? -1 - | 201 27-1
‘_°_, _ Noticed too late
2 Did the collision occur the driver tried to confirm safety, Are there any elements that contribute to driver
° 4 made a judgment, and took action, but could not control the vehicle? Gannot stop - | 8 | inability to control a vehicle? - 28-8 | 29-8 | 30-8 | 31-8
@
b Did the collision occur because a driver abruptly stopped Dangerous vehicie Check for elements that cause accidents by drivers
or changed lanes to avoid danger? avoiding other danger.
5 Avoiding danger \‘:D - |15 —+120-15 | 21-15 | 22-15 | 23-15 | 24-15 | 25-15 | 27-15 | 28-15 | 29-15 | 30-15 | 31-15| 34-15 35-15 41-15 43-15
Did the head-on collision occur because a driver entered the curve at excessive speed without being able to Are there any elements that make it difficult to
check the alignment of the road ahead, straying into the oncoming lane without being able to confirm safety? understand the alignment?
% Entering the curve at high speed
without confirming its alignment
Did the head-on collision occur because a driver changed to the oncoming lane to pass a vehicle without being Are there elements that make it difficult to confirm
2 able to confirm safety from oncoming vehicles? safety before moving into the oncoming lane to pass
Did the head-on collision occur because a driver entered the oncoming lane when passing without being ableto | — | 10 | a vehicle? - | 20-10
confirm safety?
c T ™
.g L >'\ | 2 Are there any elements that encourage frequent
,__é Passing without confirming safely \m ] - | 11 | passing in the oncoming lane? - 43-11
< .
g Did the head-on collision occur a driver shifted to the oncoming Are there any elements that encourage drivers to
Q 3 lane after judging that it is possible to pass safely? [ > = | 47| pass dangerously when it is easy to misunderstand -
T Judging that it is possible to pass \{:} ] the behavior of oncoming vehicles? .
Did the head-on collision occur because a driver lost control Are there any elements tha}) contribute to driver
4 | ofthe vehicle, straying into the oncoming tane? | g | inability to control a vehicle? = 28-8 | 20-8 | 30-8 | 31-8
Did the head-on collision occur because a driver D. hict ) Check for elements that cause accidents by drivers
shifted into the oncoming lane to avoid danger? ( JPangerous vehicie Pedestrian etc. avoiding other danger.
- End - - - _ . - - - - - " - - - - -
5 Avoiding danger ‘-G Avoiding danger @ 15 20-15 | 21-15 | 22-15 | 23-15 | 24-15 | 25-15 | 27-15 | 28-15 | 29-15 | 30-15 | 31-15| 34-15 35-15 41-15 43-15
Did the vehicle leave its lane colliding with an object, because » Are there any elements that make it difficult to
2 it entered a curve or narrow road section at excessive speed B P understand the alignment? N
without being able to confirm the alignment of the road ahead? @ Delayed awareness of'We alignment
[
2 Did the vehicle leave its lane colliding with an object because ] Arebtlhere any elelmentf.l )f}ag contribute to driver
] the driver tried to confirm safety, made a judgment, and took action, inability to control a vehicle?
§' 4 | but could not controt the vehicle? @ Cannot stop -8 - 28-8 | 298 | 30-8 | 318
° .
§ Did the collision occur because the vehicle shifted Check for elements that cause accidents by drivers
) into the oncoming lane to avoid danger? ™42 avoiding other danger. 215 | 23.4
N b d - - - - - - - - o - - - - - -
5 j:QDEﬂger vehidie Djltpmmelc' - 115 20-15 | 21-15 | 22-15 | 23-15 | 24-15 | 25-15 | 27-15 | 28-15 | 29-15 [ 30-15 | 31-15| 34-15 35-15 41-15 43-15
Did the vehicle hit the pedestrian crossing the road at a place Are there elements that encourage pedestrians to
4 | where the driver did not know that pedestrians cross the road? Dangerous crossing k g — | 43 | cross roads dangerously. - 35-13 41-13 43-13
_g’ Did the vehicle hit the pedestrian because the driver Are there any elements that block visibility?
2" tried to confirm safety, but groceeded without being
g 2 | able to see the pedestrian? - |1 -+ | 20-1 | 211 27-1 35-1 43-1
3
& Did the vehicle hit the pedestrian because the driver - > Are there any elements that contribute to driver
tried to confirm safety, made a judgment, and took action, m inability to control a vehicle?
4 but could not control the vehicie? Cannot stop k - | 8 - 28-8 | 29-8 | 30-8 | 31-8

* Accident process pattern No. 5 is an accident that occurs when a driver has made an emergency stop or lane change to avoid danger, and
it is difficult to hypothesize causes of this type of accident. So for this countermeasure (Cause code O—15), refer to other types of
accidents.
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Pattern (13) Uninterrupted flow section — mountainous land - 2-lanes or less — no sidewalks (1/2)

Road environments that cause accidents
Accident process Road factors Traffic environment factors
Road alignment Intersection shape Lanes/width Accessories/structures
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Did the head-on collision occur because a driver entered the curve at excessive speed without being able to ) Are there any elements that make it difficult to
check the alignment of the road ahead, straying into the oncoming lane without being able to confirm safety? understand the alignment?
[ =—rtire . - 112 ' | 112 312 13-12 | 14-12 18-12
% Entering the curve at high speed
without confirming its alignment
2 Did the head-on collision occur because a driver changed to the oncoming lane to pass a vehicle without being Are there elements that make it difficult to confirm
able to confirm safety from oncoming vehicles? safety before moving into the oncoming lane to pass
Did the head-on collision occur because a driver entered the oncoming lane when passing without being ableto | — | 10 | avehicle? - | 110 3-10
confirm safety?
g I > Are there any elements that encourage frequent
2 Passing without confirming safety \{:\‘ﬂ‘; | | 11 | passingin the oncoming lane? N 1211
8
5 Did the head-on collision occur a driver shifted to the oncoming Are there any elements that encourage drivers to
2 lane after judging that it is possible to pass safely? ey > pass dangerously when it is easy to misunderstand
] 3 : — | 17 | the behavior of oncoming vehicles? - 2-17 417
T Judging that it is possible to pass I
Did the head-on collision occur because a driver lost control Are there any elements that contribute to driver
of the vehicle, straying into the oncoming lane? > inability to control a vehicle?
4 L e Ead 8 — 5-8
Cannot stop \i::“_ l
Did the head-on collision occur because a driver ) Check for elements that cause accidents by drivers
shifted into the oncoming lane to avoid danger? m ([ Jpangerous vehide Pedestrian stc. avoiding other danger.
5 =115 - | 115 | 2115 | 3-15 | 415 | 5-15 8-15 | 9-15 | 10-15 | 11-15 | 12-15 | 13-15 | 14-15 18-15
Avoiding danger » q—G Avoiding danger ‘G
Did the vehicle leave its lane colliding with an object, because Are there any elements that make it difficult to
it entered a curve or narrow road section at excessive speed » understand the alignment?
2 without being able to confirm the alignment of the road ahead? s - |12 - | 112 3-12 9-12 | 10-12 13-12| 14-12 18-12
@ Delayed awareness of We alignment
g Did the vehicle leave its lane colliding with an object because Are there any elements that contribute to driver
5 the driver tried to confirm safety, made a judgment, and took action, » inability to control a vehicle?
2 4 but could not contro! the vehicle? -1 8 - 5-8
3 @ Cannot stop
g
3 Did the collision occur because the vehicle shifted rh Check for elements that cause accidents by drivers
into the oncoming lane to avoid danger? fo) avoiding other danger.
5 5 - -th_mem vehicle D——*";t Pedostianete. | - | 15 - | 115 | 215 | 315 | 4-15 | 5-15 815 | 915 | 10-15 | 11-15 [ 12-15 | 13-15 | 14-15 1815
Did the collision occur because the vehicle ahead ) Are there elements that encourage drivers to make
unexpectedly stopped, decelerated, or changed lanes? Dagg‘:rg;s Stopping  Lane change frequent emergency stops, to decelerate, or to
1 an g BT — | 14 | change lanes on the main road? - 8-14 | 9-14 | 10-14 [ 11-14 18-14
[ O=~LESE
5 Did the collision occur because of delayed awareness Are there any elements that block visibility?
@ 2 of the vehicle ahead? N 4 N
5
(3
g Did the collision occur the driver tried to confirm safety, — Are there any elements that contribute to driver
ha 4 made a judgment, and took action, but could not control the vehicle? { A I inability to control a vehicle? =
g Cannot stop
[
Did the collision occur because a driver abruptly stopped Dangerous vehidie Check for elements that cause accidents by drivers
or changed lanes to avoid danger? avoiding other danger.
5 - |15 —-11-15 | 215 | 3-15 | 415 | 5-15 8-15 | 9-15 | 10-15] 11-15 [ 12-15 | 13-15 | 14-15 18-15
Avoiding danger D
* Accident process pattern No. 5 is an accident that occurs when a driver has made an emergency stop or lane change to avoid danger, and * Although causes of accidents are recorded for road environments that cause accidents, there are cases
itis difficult to hypothesize causes of this type of accident. So for this countermeasure (Cause code O—1 5), refer to other types of where the columns below them are all empty columns. This has been done so that the contents can be
accidents. . expanded by accumulating future data and obtaining the views of users of this manual.
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Pattern (13) Uninterrupted flow section — mountainous land — 2-lanes or less — no sidewalks _ (2/2)

Road environments that cause accidents
Accident process : Traffic environment factors
Roadside environment Road surface conditions Congestion/stopping Others
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Did the head-on collision occur because a driver entered the curve at excessive speed without being able to Are there any elements that make it difficult to
check the alignment of the road ahead, straying into the oncoming lane without being able to confirm safety? understand the alignment?
e - |12 -
% Entering the curve at high
without confirming its alignment
2 Did the head-on collision occur because a driver changed to the oncoming lane to pass a vehicle without being Are there elements that make it difficult to confirm
able to confirm safety from oncoming vehicles? safety before moving into the oncoming lane to pass
Did the head-on coliision occur because a driver entered the oncoming lane when passing without being ableto | — | 10 | a vehicle? - (20-10
confirm safety?
HPE Ry
5 b2\ D, Are there any elements that encourage frequent
8 Passing without confirming safety \m | = | 11 | passing in the oncoming lane? N 4311
8
S Did the head-on collision occur a driver shifted to the oncoming Are there any elements that encourage drivers to
3 lane after judging that it is possible to pass safely? > pass dangerously when it is easy to misunderstand
............... : : ¢ lac?
2 3 Judging that it is possible to pass \{:} ] — | 17 | the behavior of oncoming vehicles? Ind
Did the head-on collision occur because a driver lost contro! Are there any elements that contribute to driver
of the vehicle, straying into the oncoming lane? inability to control a vehicle?
4 - | 8 - 28-8 | 29-8 | 30-8 | 31-8
Did the head-on collision occur because a driver Check for elements that cause accidents by drivers
shifted into the oncoming lane to avoid danger? m avoiding other danger.
5 Aveiding danger - |15 - | 20-15 22-15 | 23-15 | 24-15 | 25-15 | 27-15 | 28-15 | 29-15 | 30-15 | 31-15| 34-15 35-15 43-15
Did the vehicle leave its lane colliding with an object, because *4 Are there any elements that make it difficult to
it entered a curve or narrow road section at excessive speed understand the alignment?
2 without being able to confirm the alignment of the road ahead? @ Delayed awareness oWe alignment - |12 N
g Did the vehicle leave its lane colliding with an object because A Are there any elements that contribute to driver
5 the driver tried to confirm safety, made a judgment, and took action, inability to control a vehicle?
o 4 but could not control the vehicle? @ Cannot stop - | 8 nd . 28-8 { 29-8 | 30-8 | 31-8
3 .
g
K Did the collision occur because the vehicle Check for elements that cause accidents by drivers
shifted into the oncoming lane to avoid danger? avoiding other danger.
5 : - |15 - [ 20-15 22-15 | 23-15 | 24-15 | 25-15 | 27-15 | 28-15 | 29-15 | 30-15 | 31-15| 34-15 35-15 43-15
Did the collision occur because the vehicle ahead Are there elements that encourage drivers to make
unexpectedly stopped, decelerated, or changed lanes? Dag%ewt;s st;_:pping Lane change frequent emergency stops, to decelerate, or to .
1 anc cecalaraling - | 14 | change lanes on the main road? - 22-14 | 23-14 | 24-14 | 25-14 34-14 35-14 43-14
B 50|
S Did the collision occur because of delayed awareness Are there any elements that block visibility?
2|2 of the vehicle ahead? =5 w D R - 201 27.1
8 Noticed too late
g Did the collision occur the driver tried to confirm safety, . Are there any elements that contribute to driver
U ii H H 7 . . ey . ’7
ot 4 made a judgment, and took action, but could not control the vehicle? m o - - | 8 inability to contro! a vehicle? o 28.8 | 20.8 | 30-8 | 318
2 Cannot stop
[
Did the collision occur because a driver abruptly stopped pangerous vehicls Check for elements that cause accidents by drivers
or changed lanes to avoid danger? e Q ng avoiding other danger.
5 E%%‘ - | 15 - [ 20-15 22-15|23-15 | 24-15 | 25-15 | 27-15 | 28-15 | 29-15 | 30-15 | 31-15| 34-15 35-15 43-15
Avoiding danger ®

* Accident process pattern No. 5 is an accident that occurs when a driver has made an emergency stop or lane change to avoid danger, and
itis difficult to hypothesize causes of this type of accident. So for this countermeasure {Cause code O—15), refer to other types of
accidents.

Pattern (13) Uninterrupted flow section — mountainous land — 2-lanes or less — no sidewalks Document 1-26



Pattern (14) Uninterrupted flow section — mountainous land — 2-lanes or less — sidewalks ' (1/2)

. Road environments that cause accidents
Accident process Road factors Traffic environment factors
Road alignment Intersection shape Lanes/width Accessories/structures
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Did the head-on collision occur because a driver entered the curve at excessive speed without being able to Are there any elements that make it difficult to
check the alignment of the road ahead, straying into the oncoming lane without being able to confirm safety? understand the alignment?
(O e - 112 ' -1 112 312 13-12 ] 14-12 18-12
& T ame oo ,
2 Did the head-on collision occur because a driver changed to the oncoming lane to pass a vehicle without being Are there elements that make it difficult to confirm
able to confirm safety from oncoming vehicles? safety before moving into the oncoming lane to pass
Did the head-on collision occur because a driver entered the oncoming lane when passing without being ableto | — | 10 | avehicle? - 1-10 310
confirm safety?
s\ | [ > Are there any elements that encourage frequent
5 Passing without confirming safety \M_I N pas§|ng in the oncoming lane? o 12-11
K]
o - .
5 Did the head-on collision occur a driver shifted to the oncoming Are there any elements that encourage drivers to
3 lane after judging that it is possible to pass safely? RRIENG )\ [ > pass dangerously when it is easy to misunderstand
@ 3 = | 17 | the behavior of oncoming vehicles? had 2-17 417
T Judging that it is possible to pass
Did the head-on collision occur because a driver lost control i Are there any elements that contribute to driver
of the vehicle, straying into the oncoming lane? [l Dy | > inability to control a vehicle?
4 Gannot stop - 8 - 58
Did the head-on collision occur because a driver Check for elements that cause accidents by drivers
shifted into the oncoming lane to avoid danger? - (Joangerous vehice Pedostrian otc. avoiding other danger.
5 R ) - |15 - {115 | 2115 | 315 | 415 | 5-15 8-15 | 9-15 | 10-15| 11-15 [ 12-15 | 13-15 | 14-15 16-15 18-15
Avoiding danger ‘ 4—<:] Avaiding danger Q |
Did the vehicle leave its lane colliding with an object, because 4 Are there any elements that make it difficult to
it entered a curve or narrow road section at excessive speed understand the alignment?
2 without being able to confirm the alignment of the road ahead? ) S i = |12 | -] 112 3-12 9-12 | 1012 13-12 | 14-12 18-12
) Delayed awareness e alignment
g Did the vehicle leave its lane colliding with an object because Are there any elements that contribute to driver
s the driver tried to confirm safety, made a judgment, and took action, - inability to contro! a vehicle?
2 | 4 | butcould not control the vehicle? @ Canniot stop - |8 ‘ i 58
©
g
5 Did the collision occur because the vehicle Check for elements that cause accidents by drivers
shifted into the oncoming lane to avoid danger? o avoiding other danger.
5 ) ian oc. - 115 - | 115 | 2-15 | 3-15 | 4-15 | 5-15 8-15 [ 9-15 | 10-15| 11-15| 12-15 | 13-15| 14-15 16-15 18-15
vehicle *1 Pedestri
Did the collision occur because the vehicle ahead Are there elements that encourage drivers to make
unexpectedly stopped, decelerated, or changed lanes? Da;%'i'o';s S‘i‘?wiﬂg Lane change frequent emergency stops, to decelerate, or to
1 and decelerating — | 14 | change lanes on the main road? - 8-14 | 9-14 [ 10-14 | 11-14 18-14
S Did the collision occur because of delayed awareness Are there any elements that block visibility?
B | o | ofthevehicle ahead? > I N 16-1
° Noticed too late
(3]
€ Did the collision occur the driver tried to confirm safety, Are there any elements that contribute to driver
> 4 | made ajudgment, and took action, but could not control the vehicie? -1 8 inablity to control a vehicie? N
8 Cannot stop
m 1
Did the collision occur because a driver abruptly stopped Dangerous vehicle Check for elements that cause accidents by drivers
or changed lanes to avoid danger? Q avoiding other danger.
5 \ =115 . = (115 | 2115 | 315 | 415 | 5-15 8-15 | 915 | 10-15 | 11-15 | 12-15 | 13-15 | 14-15 16-15 18-15
Avoiding danger D
* Accident process pattern No. 5 is an accident that occurs when a driver has made an emergency stop or lane change to avoid danger, and * Although causes of accidents are recorded for road environments that cause accidents, there are cases
it is difficult to hypothesize causes of this type of accident. So for this countermeasure (Cause code O—15), refer to other types of where the columns below them are all empty columns. This has been done so that the contents can be
accidents. ] expanded by accumulating future data and obtaining the views of users of this manual.
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Pattern (14) Uninterrupted flow section — mountainous land — 2-lanes or less — sidewalks : (2/2)

Road environments that cause accidents
Accident process Traffic environment factors
Roadside environment Road surface conditions Congestion/stopping Others
20 21 22 23 24 25 27 28 29 30 31 34 35 37 40 41 42 43
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5 § State of occurrence of accidents Check points of the road environment that causes accidents 2A g bed o & £ z % 8|8 B .38 o g 85 s £ o2
S ;| 5 S Q B 5] o% i
g | & 88|88 | 8|3 | 8 |85|z:]|2 4 | o | o5 8 | e (82|88 |2 |&E
8|2 2518 | 2|8 | B |32|28|% 5| £ | £9 s | |85|5 |§ |&¢
s eg | 2 s | 8 g [25| 8| 8 o | T | €| &8 5 5 88|38 |[$ |=%
b, 2! & ® |ve © o | 35 | o & g @ 2o £ © &5 | < s =
Q < = £ QO @ 80 | P [k @ g et = 8 =2 a 8
2] Sy | 8 = 9 c @ ot | 2a | & £ o g 6o B £ o2 (Lo | & o2
< Bo [ &> @ 3g 2 -8 o | So o o 5 o & £ o5 | m o | © ® =
SE|°F| & |2E| 2 |GE| 22|68 | 5 | % | @ | 82 2 > |22 |88|5, |23
g2 | 28| 5 |82| g [eS |85 | 8| 5| 8 | B | 83| 2 | & |&3|%c|8g|%§
223 o9 & % @ c5% O | ¢ <] @ =] R =] [} SO | o9 [] [<$]
oL | ag [y I I Se | SElAg o o i >%8 Q I =g [ 2 | S5 | Oo
Did the head-on collision occur because a driver entered the curve at excessive speed without being able to Are there any elements that make it difficult to
check the alignment of the road ahead, straying into the oncoming lane without being able to confirm safety? understand the alignment?
[ o—rxire - | -
% Entering the curve et high
- without confirming its alignment
2 Did the head-on collision occur because a driver changed to the oncoming lane to pass a vehicle without being Are there elements that make it difficult to confirm
able to confirm safety from oncoming vehicles? safety before moving into the oncoming lane to pass
Did the head-on collision occur because a driver entered the oncoming lane when passing without being ableto | — | 10 | avehicle? — | 20-10
confirm safety?
5 i D [ > Are there any elements that encourage frequent
B Passing without confinming safety \m l - | 41 | Passingin the oncoming lane? N 43-11
£
Q
5 Did the head-on collision occur a driver shifted to the oncoming Are there any elements that encourage drivers to
o lane after judging that it is possible to pass safely? [ )\ [ > pass dangerously when it is easy to misunderstand
.1} 3 : — | 17 | the behavior of oncoming vehicles? nd
T Judging that it is possible to pass
Did the head-on collision occur because a driver lost control Are there any elements that contribute to driver
of the vehicle, straying into the oncoming lane? | S | > inability to control a vehicle?
4 Cannot stop J - | 8 - 28-8 | 29-8 | 30-8 | 31-8
Did the head-on collision occur because a driver shifted Check for elements that cause accidents by drivers
into the oncoming lane to avoid danger? [ Josngerous vericie Podestian ofc. avoiding other danger.
5 m - |15 - 120-15 22-15 | 23-15 | 24-15 | 25-15 | 27-15 | 28-15 [ 29-15 [ 30-15 | 31-15 | 34-15 35-15 43-15
Avoiding danger . 4—<:| Avoiding danger @
Did the vehicle leave its lane colliding with an object, because 4 Are there any elements that make it difficult to
it entered a curve or narrow road section at excessive speed understand the alignment?
2 without being able to confirm the alignment of the road ahead? 0 Delayed awareness oP%e alignment - | 12 -
g Did the vehicle leave its lane colliding with an object because Are there any elements that contribute to driver
b the driver tried to confirm safety, made a judgment, and took action, e inability to control a vehicle? :
§ 4 | but could not control the vehicle? & Cannot stop -1 8 ind 28-8 | 29-8 | 30-8 | 31-8
g
5 Did the collision occur because the vehicle Check for elements that cause accidents by drivers
shifted into the oncoming lane to avoid danger? 4 avoiding other danger. )
5 vehide D”*f Podestianetc. | > | 15 - 12015 ° 22-15 | 23-15 [ 24-15 | 25-15 | 27-15 | 28-15 | 29-15 | 30-15 | 31-15| 34-15 35-15 43-15
Did the collision occur because the vehicle ahead Are there elements that encourage drivers to make
unexpectedly stopped, decelerated, or changed lanes? Da:%@fm;s stopping  Lane change frequent emergency stops, to decelerate, or to
1 and decelerating — | 14 | change lanes on the main road? - 22-14 | 23-14 | 24-14 | 25-14 34-14 35-14 43-14
[~
= Did the collision occur because of delayed awareness Are there any elements that block visibility?
S ; y
@ | p | ofthevehicte ahead? S | 201 . 271
(_o_’ Noticed too late
° - "y n " -
< Did the collision occur the driver tried to confirm safety, Are there any elements that contribute to driver
? made a judgment, and took action, but could not control the vehicle? > o D inability to control a vehicle? -
5 4 roemepetll -1 8 28-8 | 29-8 | 30-8 | 31-8
x
Did the collision occur because a driver abruptly stopped Dangerous vehicle Check for elements that cause accidents by drivers B
or changed lanes to avoid danger? - Q avoiding other danger.
5 w - | 15 - [20-15 22-15 | 23-15 | 24-15 | 25-15 | 27-15 | 28-15 | 29-15 | 30-15 | 31-15| 34-15 35-14 43-15
Avoiding danger D

* Accident process pattern No. 5 is an accident that occurs when a driver has made an emergency stop or fane change to avoid danger, and
it is difficult to hypothesize causes of this type of accident. So for this countermeasure {Cause code ©O—15}, refer to other types of
accidents.
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